# DENSITY OF SEA WATER AT TIDE STATIONS

# ATLANTIC COAST

NORTH AND SOUTH AMERICA

CGS

Special Pub. 279



PLEASE RETURN TO INSTITUTION DATA LIBRARY MCLEAN

SPECIAL PUBLICATION NO. 279 (FORMERLY NO. DW-1) REVISED (1953) EDITION



U. S. DEPARTMENT OF COMMERCE COAST AND GEODETIC SURVEY WASHINGTON



GC 151 . 061 1953

U. S. DEPARTMENT OF COMMERCE SINCLAIR WEEKS, Secretary COAST AND GEODETIC SURVEY ROBERT F. A. STUDDS, Director

> SPECIAL PUBLICATION NO. 279 (FORMERLY NO. DW-1) REVISED (1953) EDITION

# DENSITY OF SEA WATER

## AT TIDE STATIONS

## **ATLANTIC COAST**

NORTH AND SOUTH AMERICA







UNITED STATES GOVERNMENT PRINTING OFFICE WASHINGTON : 1953

\_\_\_\_\_perintendent of Documents, U. S. Government Printing Office, Washington 25, D. C. - Price 35 cents

### CONTENTS

D

	rage
Index map	4
List of stations	6
Introduction	8
Table 1. Density of sea water - monthly and yearly means and extremes at tide stations	9
Mean salinity curves - seasonal variation at tide stations	56
Table 2. Corresponding densities and salinities	61
Sea water density at various temperatures	62
3	

.





### LIST OF STATIONS

STATION	L	AT.		L	ONG.			PAG	ίE
	o	Ŧ		o					
Annapolis, Md	38	59	N.	76	29	W.		28,5	8
Asbury Park, N. J.	40	13	Ν.	74	00	₩.		2	0
Ashley River, Charleston, S. C	32	50	Ν.	79	58	₩.		3	3
Atlantic City, N. J	39	21	Ν.	74	25	₩.		21,5	7
Baltimore. Md	39	16	N.	76	35	W.		29.5	8
Bar Harbor, Me	44	23	N.	68	12	W.		10,5	6
Battery, The, New York, N. Y	40	42	Ν.	74	01	₩.		17,5	7
Belém, Brazil	1	27	s.	48	30	W.		5	3
Boston, Mass	42	21	N.	71	03	W.		13,5	6
Breakwater Harbor, Del	38	47	Ν.	75	06	W.		2	2
Cainhoy, Wando River, S. C	32	55	N.	79	50	W.		3	3
Cambridge, Md	38	34	Ν.	76	04	W.		27,5	8
Canavieiras, Brazil	15	41	s.	38	59	W.		5	5
Canova Beach, Fla	28	08	Ν.	80	35	Ψ.		3	6
Cape Charles (town), Va	37	16	Ν.	76	01	₩.		24,5	7
Carenero, Venezuela	10	32	Ν.	66	07	W.		5	2
Cartagena. Colombia	10	24	N.	75	33	W.		5	1
Carúpano, Venezuela	10	40	Ν.	63	15	W.		5	3
Casilda, Cuba	21	45	Ν.	79	59	W.		4	.9
Cedar Keys, Fla	29	08	Ν.	83	02	₩.		39,5	9
Charleston (Custombouse Wharf) S. C	32	47	Ν.	79	55	W.	31	32 5	8
Charleston (Ashley River), S. C.	32	50	N.	79	58	W.	01	, 02, 0	3
Ciudad Trujillo. Dominican Republic	18	28	N.	69	53	W.		4	.9
Coatzacoalcos (Puerto Mexico), Mexico	18	09	N.	94	25	W.		45.6	0
Cristobal, Canal Zone	9	21	Ν.	79	55	W.		4	.7
Cumaná, Venezuela	10	28	Ν.	64	11	W.		5	3
Davtona Beach (Halifax Biver), Flager	29	13	Ν.	81	01	W.		3	6
Daytona Beach (ocean). Fla.	29	14	N.	81	00	W.		35.5	9
Diamond Shoal Lightship	35	05	N.	75	20	W.		30.5	8
Eastport Mo		51	N	66	50	W		0 5	6
Fugene Island Is	44 20	54 99	N	00	59 93	w.		9,J	0
Lugene Island, La.	27	44	14. NT	21	20	** •		41,5	
fernandina, fla.	30	41	N.	81	28	W.		34,5	8
Fortelaza (Mucuripe), Brazil	3	42	S.	38	29	W.		5	4
Fort Hamilton, New York, N. 1	40	37	IN.	(4	02	W.		18,5	1
rort Pulaski, Savannan Kiver, Ga	32	02	IN.	80	54	¥¥ .		33,5	8
Galveston, Tex	29	19	N.	94	48	W.		42,6	0
Gibara, Cuba	21	07	Ν.	76	07	Ψ.		4	.8
Gloucester Point, Va	37	15	N.	76	30	Ψ.		2	6
Grand Isle, 8 miles SE. of, La	29	10	IN.	89	55	W.		4	1
Guantanamo Bay, Cuba	19	54	IN.	(5	09	Ψ.		48,6	0
Habana, Cuba	23	09	Ν.	82	20	₩.		47,6	0
Halifax River, Daytona Beach, Fla	29	13	Ν.	81	01	₩.		3	6
Imbituba, Brazil	28	17	S.	48	40	W.		5	5
Ivigtut, Greenland	61	12	Ν.	48	11	W.		9,5	6

#### LIST OF STATIONS -Continued

STATION	LAT.	LONG.	PAGE
	0 1	0 1	
Key West, Fla	24 33 N.	81 48 W.	37,59
Kiptopeke Beach, Va	37 10 N.	75 59 W.	24
La Guaira, Venezuela	10 36 N.	66 56 W.	52
Long Branch, N. J.	40 18 N.	73 59 W.	20
Mayport, Fla.	30 24 N.	81 26 W.	35,59
Miami Beach, Fla.	25 46 N.	80 08 W.	37,59
Montauk, Fort Pond Bay, L. I., N. Y	41 03 N.	71 58 W.	15,57
Nantucket Shoals Lightship	40 37 N.	69 37 W.	15
New London, Conn.	41 22 N.	72 06 W.	15,56
New York (The Battery) N. Y	40 37 N.	74 02 W	10, 57
New York (Willets Point), N. Y	40 48 N.	73 47 W.	16.57
North Charleston Terminals,			.,
Cooper River, S. C	32 54 N.	79 58 W.	33
Old Point Comfort, Va	37 00 N.	76 18 W.	25,57
Palm Beach, Fla	26 43 N.	80 02 W.	36
Pensacola, Fla.	30 24 N.	87 13 W.	40,59
Philadelphia, Pa	39 57 N.	75.08 W.	23,57
Port-au-Prince, Haiti	18 33 N.	72 21 W.	49
Port Isabel, lex.	20 U4 N.	97 13 W.	44,00
Portland, Me.	43 40 N.	70 15 W.	11,56
Portsmouth, N. H.	43 US N.	70 45 W.	12,50
Puerto Cabezas Nicaragua	14 01 N	89 40 W. 83 93 W	45,00
Puerto Cortés, Honduras	15 50 N.	87 57 W.	46
Puerto Limón Costa Bicanona	10 00 N	83 02 W	16
Puerto Mexico (Coatzacoalcos). Mexico	18 09 N.	94 25 W.	45.60
Puerto Plata, Dominican Republic	19 49 N.	70 42 W.	50
Pulpit Harbor, Me.	44 09 N.	68 53 W.	11
Recife, Brazil	8 03 S.	34 52 W.	54
Richmond, Va	37 32 N.	77 25 W.	25,57
Rio de Janeiro			
(Fortaleza de Santa Cruz), Brazil	22 56 S.	43 08 W.	55
Rockport, lex	28 01 N.	97 03 W.	43,60
St. Lucia (Vieux Fort), B. W. I	13 44 N.	60 58 W.	50
St. Petersburg, Fla.	27 46 N.	82 38 W.	38,59
Salvador Brazil	U 37 5.	4(23 W. 2021 W	54
	12 JO J.	50 51 W.	10 57
Salamana Md	40 28 N.	74 01 W.	19,57
Southport N C	33 55 N	78 01 W	21,50
Trinidad (Carenago Ray) R W T	10 41 N	61 26 W	51
Weshington D. C.	10 41 N.	01 30 W.	51
Willets Point New York N V	38 52 N.	73 47 W	26 57
Woods Hole, Mass.	41 31 N.	70 40 W.	14,56

#### INTRODUCTION

The summaries of sea water densities presented in this publication are based on observations made in Atlantic harbor and coastal waters through the year 1952. The densities were observed primarily at tide stations which, in the United States, were maintained by the Coast and Geodetic Survey, often with the cooperation of other organizations. Final results for Venezuela were supplied by the Ministerio de Obras Publicas, Estados Unidos de Venezuela. For other countries the Coast and Geodetic Survey derived the data from observations made by organizations in the countries concerned. In Latin America the observations were obtained through the cooperation of the Inter American Geodetic Survey.

Table 1 presents monthly means and annual mean and extremes for each year of observations. Maximum and minimum densities are shown for each year in which observations were made, whether or not the observations covered the whole year. In all cases the yearly extremes are from the months of the year for which means are given. If they are from an incomplete year, they are followed by an asterisk.

For each station at which the series of observations covered two or more years, there are given also the following monthly values for the series: the mean of the monthly means together with their corresponding salinities, the maximum density observed, the mean of the monthly maxima, the mean of the monthly minima, and minimum observed. Following the table of densities are graphs showing the seasonal variation in

salinity at stations for which the observations covered five years or more.

The observations are made by drawing a sample of water from near the surface and observing its density by means of a hydrometer. They are usually made once each weekday at whatever time the observer attends the tide gage. It may be assumed that in the course of a month or a year the distribution of observations is fairly uniform over all phases of the tide. At some stations situated within or near the entrance of an estuary, the density varies with the stage of the tide or with the direction of the tidal current.

The densities in Table 1 are given with respect to the density of pure water at a temperature of  $4^{\circ}C$  (39.2°F) as unity. The actual density of the water may vary from a little less than unity for fresh water at a temperature other than 4°C to approximately 1.0310 for the heaviest sea water. Since the density of sea water, as observed, depends not only upon the amount of soluble matter contained in a unit volume but also upon the temperature of the water at the time the reading was made, it is necessary to reduce the observed densities to some standard temperature in order that they may be comparable. In this publication the observed densities have been reduced to a standard temperature of  $15^{\circ}C$  (59°F). The density of pure water free from air at a temperature of  $15^{\circ}C$  is 0.9991.

The salinity of sea water is defined as the number of grams of salts contained in 1000 grams of sea water. Salinity can be determined by several different methods, one of the simplest being based upon the density of the water as obtained from the use of the hydrometer. Table 2 gives the salinity corresponding to different values of density at the standard temperature of  $59^{\circ}$ F. ( $15^{\circ}$ C.) to which all densities in this publication are referred.

For some practical uses of density data, it is more important to know the density at the temperature apt to be encountered than at the standard temperature. The graph, Sea Water Density at Various Temperatures, provides for converting density at  $59^{\circ}F$  ( $15^{\circ}C$ ) to density at other temperatures.

The following publications complete this series:

Special Pub. 278. Surface Water Temperatures, Atlantic Coast, North and South America.

Special Pub. 280. Surface Water Temperatures, Pacific Coast, North and South America and Pacific Ocean Islands.

Special Pub. 281. Density of Sea Water, Pacific Ocean.

Min.		0076* 157 131 127 156	122* 101 116*		0076		0215 220 229* 219* 218 218	215 215 215 223 223
Max.		1.0247*1. 258 274 262 260	263* 256 252*		1.0274		1.0244 1. 244 245* 245* 241* 242 243	244 243 243 240 241
Means		1.0225 232 223 229	214	1.0222			1.0235 233 233 234 234	233 234 233 233 234
Dec.		1.0242 247 246 249 249 249 249	247 244 223	1.0243 32.8	1.0263 1.0252 1.0251 1.0231		1.0237 240 236 236 236 237 237	235 237 234 234 236
Nov.		1.0240 240 241 241 241 243	246 241 	1.0242 32.7	1.0258 1.0250 1.0227 1.0205		1.0236 238 234 236 236 238	238 235 235 238
Oct.		1.0200 231 226 227 227 227 227	227 222 	1.0222 30.1	1.0243 1.0240 1.0191 1.0132		1.0239 236 237 237 237 237 239	238 239 236 237 237
Sept.	Q	1.0178 204 208 197 135	193 158 150	1.0134 25.1	1.0241 1.0213 1.0146 1.0106		1.0239 235 239 239 238 238	238 237 237 235 236
Aug.	EENLAI	1.0137 170 174 145 196	153 143 151	1.0159 21.8	1.0213 1.0185 1.0128 1.0076	T, ME.	235 237 237 237 237 235 236 236	235 235 234 235 235
July	'UT, GR	1.0160 131 204 178 178 184	185 162 155	1.0176 24.1	1.0224 1.0202 1.0148	ASTPOR	1.0236 230 236 236 234 234 234	234 234 232 232
June	IVIGT	 1.0211 224 204 204 217	210 187 132	1.0205 27.8	1.0242 1.0230 1.0177 1.0142	Щ	1.0232 227 234 234 230 230	231 229 230 230
May		1.0223 242 237 252	231 220 228	1.0233	1.0262 1.0252 1.0199 1.0145		1.0230 225  228 228 228	223 228 228 228 228
Apr.		 1.0250 251 246 246 255	246 246	1.0249 33.6	1.0260 1.0254 1.0235		1.0230 227 229 229 228 228	228 232 228 231
Mar.		<b>1.</b> 0248 249 248 248	251 247	1.0249 33.6	1.0260 1.0256 1.0221 1.0156		1.0230 233 235 235 235 235 234	230 234 233 233
Feb.		<b>1.</b> 0247 258 250 252	256 248 242	1.0250	1.0264 1.0257 1.0226 1.0173		1.0235 236 236 236 236 236 234	234 234 234 235
Jan.		1.0245 256 249 247	249 245 248	1.0248 33.5	1.0274 1.0256 1.0238 1.0238		1.0236 237 239 236 236 236	232 234 236 235
Year		1945 1946 1947 1948 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1930 1931 1932 1932 1933 1934	1936 1937 1938 1938

Table 1. Density of Sea Water Means and Extremes

- Continued	
Water	tremes
of Sea	and Ex
Density	Means
Table 1.	

																			_
Min.		. • 0218 223	222	230	228	214	226	221	217	217	215		L.0213		L.0236* 220	220	224	216	214
Max.		1.0242 ] 244	246 246	251	255 253	249	245	250	246	249	245		1.0255		1.0246*] 245	247	250	246	246
Means		1.0233	235	241	241	240	237	240	239	238	237	1.0236 31.9			1.0235	237	239	236	234
Dec.		1.0237 240	238	238	237	244	236	241	233	240	240	1.0238	1.0248 1.0241 1.0233 1.0233		1.0243 238	241	234	238	236
Nov.		1.0238 238	234	243	241	247	237	244	241	240	242	1.0239 32.3	1.0253 1.0243 1.0245 1.0235		1.0238	242	244	236	239
Oct.		1.0237 239	240 240	247	248	247	239	246	243	243	242	1.0241 32.5	1.0252 1.0244 1.0237 1.0232		1.0242 238	244	244	241	239
Sept.	nued	1.0233 237	242	247	249	244	240	248	242	242	242	1.0240 32.4	1.0255 1.0243 1.0237 1.0230	. :	1.0239 237	242	240	238	237
Aug.	Conti	1.0234 238	162	246	245	241	237	247	242	242	241	1.0239 32.3	1.0250 1.0242 1.0235 1.0230	30R, ME	1.0232	239	239	238	234
July	RT, ME.	1.0230 233	242	243	245 240	240	234	244	239	239	239	1.0236 31.9	1.0249 1.0239 1.0233 1.0236	R HAR	1.0230	236	238	237	233
June	EASTPO	1.0228 231	239	239	239 236	232	231	237	237	235	234	1.0233 31.5	1.0244 1.0236 1.0223 1.0223	BA	1.0228	235	238	234	229
May		1.0227 229	237	237	233	233	231	233	235	235	232	1,0230 31,1	1.0241 1.0235 1.0225 1.0225		1.0229	234	237	234	230
Apr.		1.0224 230	<b>23</b> 9	236	233	236	234	232	235	230	231	1.0231 31.2	1.0242 1.0236 1.0224 1.0224		1.0234	232	234	235	230
Mar.		1.0234 235	242 242	239	239 234	238	240	235	239	236	234	1.0235 31.8	1.0246 1.0238 1.0231 1.0218		 1.0238	233	238	232	231
Feb.		1.0236 235	239	240	240	239	241	235	239	237	233	1.0236 31.9	1.0244 1.0239 1.0233 1.0233		 1.0241	235	241	236	233
Jan.		1.0236 235	292	240	238	243	242	233	241	238	236	1.0237 32.0	1.0246 1.0241 1.0233 1.0213		 1.C242	234	239	235	235
Year		1940	1942	1944	1945	1947	1948	1949	1950	1991	1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1947 1948	1949	1950	1951	1952

~

	•0214 •0218*		•0137*	157	114	202	192	181*	204*	155	178	146	116*	169*	100*	104	167	126	
1.0250	1.0234*1 240*		1。0244*1 239	236	246	235	232	253*	254*	248	250	248	237*	252*	238*	238	236	241	
1.0236	0 0 0 1 0 1		 9120-1	223	221	223	216		8	223	227	226	1	1	8	213	217	218	
1.0238 32.1 1.0246 1.0245	1.0224 1.0224 1.0227 239		1.0225 222	223	223	221	209	212	215	227	218	223	8	213	216	220	215	229	
1.0240 32.4 1.0250 1.0245	1.0225 1.0225 1.0231 233		1,0224 227	230	226	223	216	215	228	222	221	224		223	3 2 7	220	225	228	
1.0241 32.5 1.0248 1.0244	ME. 232		1.0220 229	228	229	228	219	226	226	225	222	216	8	232	226	228	222	228	
1.0239 32.3 1.0247 1.0244	T BAY, 232		L.0220	222	224	225	218	237	231	230	232	229	232	226	224	230	223	226	
1.0236 31.9 1.0242 1.0240	L.0230	D, ME.	L.0219 223	230	226	224	221	236	234	230	235	233	222	218	224	226	222	218	
1.0235 31.8 1.0242 1.0240	DR, PEN	RTLAN	222	230	223	225	221	234	234	232	240	241	231	227	223	222	219	219	
1.0233 ] 31.5 1.0239 ] 1.0236 ]	<b>HARB</b>	Р	]	223	224	224	218		230	220	236	231	212	1	227	195	215	218	
0233 ] 31.5 0246 ] 0239 ]	0216 ]		.• U206 197 ]	205	217	220	515		222	226	226	222	219	8	228	166	208	194	
0233 ] 31.5 0242 ] 0238 ]	0214		-• 0212 1 206	214	199	214	214	224	219	212	220	222	190	208	175	198	204	138	
.0234 ] 31.6 .0245 ] .0241 ]			2120 •	223	213	227	212	230	213	211	225	224	217	204	163	220	215	216	
0237 ] 32.0 0248 ] 0243 ]	0225		0230 J 224	225	218	225	214	214	1 7 9	220	227	224	8 9 8	8 8 8	216	213	214	225	
1.0237 ] 32.0 1.0245 ]	0220		223 1.0236 1	225	228	224	812	211	215	222	219	222		8	219	219	225	225	
Mean Density Salinity Max. ] Mean Max. ]	Min	, () () () ()	1922	1924	1925	1926	1927	1929	1930	1931	1932	1933	1934	1935	1936	1937	1938	1939	

- Continued	
Water	tremes
r of Sea	is and Ex
Density	Mean
Table 1.	

Min.		1.0127 189 126 171 158	129		1.0100		1.0136	102 125* 156 098 153 153	091 070
Max.		1.0242 245 242 242 235 238 238	239		1.C254		1.0241	238 236* 253 253 241 241 241 242	236 236
Means		1.0218 230 221 221 221 220 220	210	1.0220 29.8			1.0218	208  214 217 219 219	202
Dec.		1.0224 234 227 224 224 216	215	1.0220 29.8	1.0242 1.0231 1.0231 1.0276		1.0199	202 229 235 231 231 231 231	198 207
Nov.		1.0224 237 223 223 219 218	210	1.0223 30.2	1.0239 1.0232 1.0206 1.0169		1.0226	222 228 235 235 235 235 235 235 235 235 235 235	180 233
Oct.		1.0228 238 227 218 227 227	222	1.0226 30.6	1.0244 1.0235 1.0209 1.0209 1.0146		1.0231	229 219 236 236 238 238 238	225
Sept.	tinued	1.0228 235 223 223 223 223 224	221	1.0226 30.6	1.0246 1.0236 1.0210 1.0166	Ŧ	1.0227	228 217 228 228 235 235	223
Aug.	Con	1.0227 235 223 223 224 230	222	1.0226 30.6	1.0254 1.0236 1.0209 1.0132	JTH, N.	1.0238	224 212 218 218 218 224 234 234	221 224
July	ND, ME	1.0222 235 221 223 225 225	216	1.0226 30.6	1.0252 1.0237 1.0203 1.0203	RTSMO	1.0217	210 224 211 212 231 231	223
June	PORTLA	1.0200 231 210 217 217 222	188	1.0218 29.5	1.0246 1.0231 1.0191 1.0126	РО	1.0221	196  198 183 224 228	208 191
May		1.0196 223 212 212 201 208	182	1.0209 28.4	1.0245 1.0226 1.0175 1.0104		1.0204	176 197 190 188 208 208	201 176
Apr.		1.0186 220 213 213 220 203	207	1.0207 28.1	1.0237 1.0225 1.0176 1.0114		1.0178	196 194 191 191 191	168 157
Mar.		1.0221 223 211 215 215 215	194	1.0214 29.0	1.0236 1.0228 1.0187 1.0100		1.0209	176 184 193 199 199 192	182 188
Feb.		1.0227 220 231 231 227 223	220	1.0221 29.9	1.0246 1.0231 1.0205 1.0175		1.0230	220 215 208 208 203 203	184 184
Jan.		1.0229 224 232 232 226 225	221	1.0223 30.2	1.0244 1.0232 1.0209 1.0194		1.0233	211 210 228 228 248 202 202	210
Year		1940 1941 1942 1943 1944	1945	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1944	1945 1946 1947 1948 1948	. 1951 1951

	• 0070		0128	160	167	165	166	167	143	202	117	140	141	159	131	129	152	132	102	101	175	098	118	160*	
	1.0253		1.0236 ]	234	237	238	232	234	235	238	232	236	230	233	234	233	233	233	235	238	243	235	257	237*	
1.0212 28.8			1.0215 216	216	222	223	217	216	221	226	213	218	210	215	215	213	213	203	213	214	226	215	217	8	
1.0213 28.9	1.0241 1.0234 1.0187 1.0147		1.0230	229	217	226	206	226	226	227	227	220	221	223	224	200	203	196	228	221	231	216	229	210	
1.0223 30.2	1.0241 1.0234 1.0202 1.0137		1.0228	227	227	227	219	226	230	226	229	196	222	222	225	228	219	214	222	224	233	223	226	219	
1.0230 31.1	1.0241 1.0236 1.0223 1.0223		1.0225	223	231	232	215	226	231	230	229	209	211	220	231	223	227	198	229	229	234	227	226	224	
1.0227 30.7	1.0238 1.0234 1.0218 1.0203		1.0214 230	212	228	231	208	221	231	233	222	225	210	221	224	219	221	203	229	229	234	229	230	222	
1.0226 30.6	1.0242 1.0233 1.0213 1.0213	, MASS.	1.0220 227	223	229	226	216	225	232	228	219	230	226	227	227	228	226	189	230	228	231	222	230	232	
1.0220 29.8	1.0240 1.0232 1.0205 1.0180	OSTON	1.0194	224	230	230	227	215	228	229	211	233	224	227	220	226	218	192	229	220	232	222	229	8	
1.0206 28.0	1.0238 1.0227 1.0174 1.0126	Ē	1.0199 219	218	225	226	234	206	222	228	186	228	223	217	206	224	205	210	219	202	223	216	216	225	
1.0194 26.4	1.0231 1.0221 1.0160 1.0114		1.0204	201	220	215	220	201	210	223	207	220	208	212	209	215	199	205	192	161	219	214	192	206	
1.0184 25.1	1.0228 1.0220 1.0133 1.0070		1.0206	197	207	210	217	220	194	218	203	205	170	187	182	185	201	208	166	169	213	200	217	197	
1.0193 26.3	1.0239 1.0228 1.0138 1.0098		1.0206 204	211	208	209	206	219	209	223	187	214	185	194	201	171	215	213	192	199	225	172	191	217	
1.0212 28.8	1.0253 1.0234 1.0179 1.0124		1.0227	220	214	224	216	215	221	223	216	220	222	227	216	221	215	201	210	228	216	219	216	228	
1.0217 29.4	1.0251 1.0234 1.0193 1.0141		1.0228	213	229	225	222	217	222	221	224	217	202	205	203	220	205	212	215	223	215	224	203	229	
Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1922	1924	1925	1926	1927	1928	1929	1930	1931	1932	1933	1934	1935	1936	1937	1938	1939	1940	1941	1942	1943	1944	

- Continued	
Water	xtremes
r of Sea	is and E
Density	Mear
Table 1.	

Min.		.0112 123 149 117 140	139 091 062		•0062	230 227 234 125 217*	233 234 181
Max.		1.0237 1 233 238 238 239 236	239 231 234	1.0257	1 1.0254*1	282 248 258 258 249 256*	247 242 244
Means		1.0208 208 217 217 207 219	222 201 205	1.0215 29.1	8	1.0238 237 241 236 	241 238 237 237
Dec.		1.0177 228 228 228 228 228 228 220	219 204 223	1.0219 29.7 1.0237 1.0228	1.0130	233 242 240 240 232 232 232 241	239 237 238
Nov.		1.0215 229 219 217 223	222 189 227	1.0222 30.1 1.0236 1.0231	1.0238	238 241 234 234 234 233	242 238 239
Oct.		1.0230 224 233 233 233 233 233 228	232 218 228	1.0225 30.4 1.0246 1.0233	1.0240	239 240 244 235 235 244	244 240 239
Sept.	inued	1.0226 205 218 218 227 215	231 225 227	1.0223 30.2 1.0238 1.0231	1.0131 55.	240 241 242 237 237 245	243 240 239
Aug.	Cont	1.0219 199 219 221 231	233 221 214	1.0223 30.2 1.0239 1.0231	1.0136 LE, MAS	237 237 231 231 237 237 237 231	243 239 234
July	I, MASS	1.0210 226 220 220 231	23 <b>1</b> 224 226	1.0222 30.1 1.0243 1.0231	1.0118 DDS HO	239 238 244 237 237 237 241	242 240 239
June	BOSTON	1.0198 192 217 175 226	230 191 200	1.0213 28.9 28.9 1.0237 1.0226	1.0101 WOC	241 235 243 238 238 238	241 239 238
May		1.0192 204 196 191 209	209 196 188	1.0206 28.0 1.0230 1.0223	1.0100	238 235 240 240 235	240 239 239
Apr.		1.0213 211 211 187 195	210 175 173	1.0198 26.9 1.0257 1.0221	1.0236	239 234 239 238 238 238	238 236 236
Mar.		1.0176 181 212 171 212 212	206 171 171	1.0199 27.1 1.0235 1.0224	1.0091	237 236 239 239 237	238 235 233
Feb.		1.0217 206 224 223 223 212	221 180 184	1.0216 29.3 1.0239 1.0229	1.0062	1.0240 232 239 234 232 232	239 237 235
Jan.		1.0220 188 212 229 213	226 214 195	1.0216 29.3 1.0238 1.0228	1.0118	1.0237 231 241 238 233	240 233 236
Year		1945 1946 1947 1947 1948	1950 1951 1952	Mean Density Salinity Max. Mean Max.	Min. Min. 1944	1945 1946 1947 1948 1948	1950 1951 1952

	2 1.0125		5 <b>*1.</b> 0237* 9 232 2* 238*		1*1.0078* 3 002 2 036	0 043 7* 048* 5 041		3 1.0002		3*1.0224* 5* 203* 5 202
	1.028		1.024 26 25	_	1.022 23( 23;	222		1.023		1.0238 24: 23(
1.0238 32.1			1.0244		1.0136 159	151	1.0146 20.1			1.0225
1.0238 32.1	1.0254 1.0243 1.0234 1.0229		1.0240 241 		1.0164 177 183	134 105 148	1.0152 20.9	1.0216 1.0194 1.0106 1.0062		1.0228 228 234
1.0239 32.3	1.0256 1.0244, 1.0256 1.0231		1.0242 237 		1.0149 176 211	179 113 197	1.0171 23.4	1.0224 1.0216 1.0109 1.0052		1.0230 233 233
1.0241 32.5	1.0249 1.0244 1.0244 1.0237	д.	1.0244		1.0211 210 218	209 207 203	1.0210 28.5	1.0238 1.0228 1.0185 1.0171	Ν.Υ.	1.0233 233 234
1.0241 32.5	1.0248 1.0245 1.0236 1.0225	IHSTHE	1.0252	NN.	1.0189 208 212	203 200 198	1.0202 27.5	1.0230 1.0220 1.0171 1.0118	Y, L.I.,	1.0231 231 231
1.0239 32.3	1.0247 1.0245 1.0229 1.0181	ALS LIG	1.0251	ON, COI	1.0193 174 213	191 164 158	1.0186 25.4	1.0228 1.0219 1.0139 1.0083	OND BA	1.0230
1.0240 32.4	1.0258 1.0246 1.0236 1.0228	ET SHO	1.0242 243	I LOND	1.0118 203	178 173 184	1,0171 23.4	1.0216 1.0197 1.0138 1.0138	FORT P	1.0222 225
1.0239 32.3	1.0253 1.0244 1.0236 1.0232	INTUCK	1.0242 245	NEW	1.0075 160	117 142 133	1.0125 17.4	1.0197 1.0173 1.0068 1.0068	TAUK, I	1.0220
1.0238 32.1	1.0255 1.0243 1.0234 1.0225	NA	 1.0247 247		1.0073 108	095	1.0098 13.9	1.0167 1.0148 1.0062 1.0043	MON	1.0223 219
1.0236 31.9	1.0264 1.0242 1.0231 1.0231		 1.0245 244		1.0075 094	096	1.0093 13.2	1.0162 1.0144 1.0053 1.0058		1.0219 215
1.0236 31.9	1.0245 1.0241 1.0232 1.0232		 1.0244 244		1.0071	111	1.0096 13.6	1.0182 1.0161 1.0030 1.0002		1.0223
1.0236 31.9	1.0282 1.0284 1.0244 1.0219		1.0243		1.0099	149	1.0114 16.0	1.0204 1.0171 1.0062 1.0062		1.0229 220
1.0237 32.0	1.0254 1.0241 1.0234 1.0229		1.0240 241		1.0170 103	155 107 112	1.0129 17.9	1.0203 1.0173 1.0082 1.0043		1.0240 221
Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1923 1924 1925		1947 1948 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1947 1948 1949

Min.	.0218 198 202*		• 01 98		•0169 160 161*	164 151*	149* 149* 148	158	162 153	156 165*	158 160
Max.	1.0239 1 234 237*		1.0245 1		1.0215 1 198 201*	214 204*	191* 200	204	209 208	200	200
Means	1.0229 224	1.0226 30.6			1.0192 185	189	177	182	193	181	180 180
Dec.	1.0227 224 229	1.0228 30.8	1.0236 1.0232 1.0223 1.0228		1.0192 189 190	190	191 191	187	203	193	176 184
Nov.	ed 1.0233 224 233	1.0231 31.2	1.0241 1.0236 1.0226 1.0226		1.0188 184 187	188 190	174 189 189	186	200 181	188	182 197
Oct.	Continu 1.0235 231	1.0233 31.5	1.0240 1.0237 1.0229 1.0227	ς, Ν.Υ.	1.0196 184 185	188 193	177 191	185	203 182	191	182 186
Sept.	N.Y	1.0231 31.2	1.0238 1.0235 1.0226 1.0226	t rivef	1.0203 184 187	195 196	161 	184	201 187	190	163 184
Aug.	N, L.I., 1.0231 226 223	1.0228 30.8	1.0235 1.0231 1.0231 1.0223 1.0219	nt), EAS	1.0202 190 192	204 193	185 190	184	201 184	190 194	176 185
July	OND BA 0.0230 225 220	1.0224 30.3	1.0235 1.0229 1.0217 1.0202	lets Poir	1.0191 185 187	196 187	180 180 183	178	191 186	187	178 164
June	FORT P 1.0227 224 215	1.0222	1.0231 1.0226 1.0217 1.0217	RK (Will	1.0193 180 182	193 186	181	167	190 186	171 185	177 170
May	TAUK, 1.0225 218 213	1.0220 29.8	1.0233 1.0226 1.0214 1.0202	EW YO	1.0184 173 177	186	178 163	171	186 188	179	163 179
Apr.	MON 214 213 213	1.0217	L.0232 L.0235 L.0225 L.0198	z	1.0184 174 173	165 182 174	174 174 157	170	184 185	177	182 173
Mar.	222 222 222 221	1.0222	1.0231 1.0226 1.0228		1.0192 190 	176 183	176 163	186	188 191	171 186	179 172
Feb.	224 224 220	1.0224 30.3	L 0232 L 0228 L 0228 L 0212		1.0186 193	176 	174 174 167	195	183 200	181	192 178
Jan.	1.0231 ] 225 222	1.0228 ] 30.8	1.0245 1.0232 1.0220 1.0220		1.0189 192 186	192	100 178 168	194	184 200	194	192 174
Year	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1932 1933 1934	1925	1938 1938 1939	1940	1941	1943	1945 1946

				_			_			-	_	_		-	-	-	-
162* 159* 158	180 159* 158*		• C148		• 0056* 103 076	103	056	065 074	101	024	035	063	052	094	062	046	063
200* 198* 203	201 198* 196*		1.0215		1.0195*1 196 196	198 195	201	201 203	203	204 192	182	197	196	220	193	206	206
186	191	1.0184 25.1			1.0150	167	156	158	167	163	144	153	152	166	148	142	157
197	187 181 187	1.0187 25.5	1.0209 1.0192 1.0179 1.0149		1.0115 175 166	156	153	169 157	156	153	113	169	144	170	141	154	153
189 195 196	195 186 192	1.0189 25.8	1.0207 1.0195 1.0161		1.0113 181 172	181 168	133	171 175	171	160	152	165	155	177	132	147	171
191 193 196	194 192 189	1.0189 25.8	1.0206 1.0194 1.0183 1.0171		1.0153 179 178	187	162	172	191	173	144	180	174	192	146	179	177
188 193 195	194  185	1.0190 25.9	1.0215 1.0196 1.0183	), N.Y.	1.0168 154 186	177	184	158 181	186	191	138	182	166	194	166	177	178
187 188 194	192	1.0190 25.9	1.0214 1.0197 1.0184 1.0164	Battery	1.0171 144 182	185	179	175	177	199	155	181	171	190	163	170	180
184 180 191	190 182 178	1.0185	1.0207 1.0192 1.0176 1.0164	RK (The	1.0133 170	158	177	175 183	159	167	152	179	157	183	153	165	166
176 171 182	189 177 	1.0160 24.6	1.0210 1.0188 1.0173 1.0173	VEW YO	1.0145 161	162	172	171	181	162	165	163	130	177	151	130	152
175 172 179	184 177 166	1.0176 24.1	1.0200 1.0183 1.0169 1.0156	~	1.0132 143 124	140 140	145	146 152	159	154	157	134	123	160	154	086	125
175 173 176	190' 168 166	1.0176 24.1	1.0201 1.0184 1.0167 1.0167		1.0137 128 108	142	122	105 120	155	134	131	088	084	122	124	120	101
181 181 179	191 185 177	1.0181 24.7	1.0204 1.0190 1.0171 1.0171		1.0106 140 127	128 167	158	140 149	142	153	141	112	162	148	128	098	137
183 192 177	193 188 174	1.0184 25.1	1.0206 1.0189 1.0176 1.0158		1.0143 142 167	159	144	150	165	142	128	138	180	141	164	141	173
163	197 187 178	1.0186 25.4	1.0208 1.0192 1.0178 1.0157		1.0160 139 163	148	139	158 158	159	133	156	148	174	144	158	141	173
1947 1948 1949	1950 1951 1951	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1927 1928 1929	1930	1932	1934	1935	1937	1938	1939	1940	1941	1942	1943	1944

Continued	
1	
Water	tremes
g	E
Š	p
of	an
Density	Means
<del>, i</del>	
Table	

Min.		•0043 068 035 052 052 035	048 041 053		• 0024		• 0084 008 017 048	075 058 044 088* 083
Max.		1.0167 1 199 193 199 199	198 194 207		1.0220		1.0224 1 223 226 226 226	213 214 222 242* 215 215 218*
Means		1.0129 150 147 156 158	153 141 144	1.0153 21.0			1.0176 172 172 172 180	172 159 162 162 158
Dec.		1.0123 168 165 165 165	133 137 147	1.0153 21.0	1.0159 1.0180 1.0113 1.0035		1.0158 157 175 175 198	160 156 179 164 151
Nov.		1.0126 167 159 179 179	164 135 179	1.0160 22.0	1.0207 1.0184 1.0128 1.0069		1.0159 164 167 210	184 185 162 144 144
Oct.	nued	1.0126 166 182 183 183	178 166 178	1.0173 23.7	1.0206 1.0191 1.0148 1.0085		1.0168 197 198 209	181 193 158 152 166 166
Sept.	Contir	1.0148 170 175 175 177 183	169 162 165	23.7	1.0220 1.0191 1.0150 1.0037	n), N.Y.	1.0194 206 207 203	175 188 191 201 169 169
Aug.	y), N.Y.	1.0134 169 169 164 168 181	179 161 169	23.5	1.0203 1.0188 1.0055	Hamilto	1.0207 211 209 202	164 180 190 221 175 175
July	le Batter	1.0135 1 169 152 156 180	173 152 158	1.0165 : 22.6	1.0199 1.0183 1.0141 1.0079	K (Fort	1,0197 201 200 201 191	174 166 166 184 177 177
June	ORK (Th	1.0126 121 115 115 139 166	152 158 130	21.0	1.0201 1.0175 1.0175 1.0175	EW YOR	1.0181 172 178 184	199 153 144 170 171 163
May	NEW YO	1.0090 138 099 126 147	143 144 118	1.0136 18.8	1.0187 1.0164 1.0101 1.0035	N	1.0166 135 169 139	182 140 148 147 147 144
Apr.		1.0122 141 109 116 138	118 091 088	1.0119 16.6	1.0179 1.0152 1.0082 1.0041		1,0129 099 128 096	167 110 123 128 124 124
Mar.		1.0098 111 136 112 112 137	136 123 129	1.0132	1.0195 1.0168 1.0086 1.0024		1.0175 150 132 164	161 157 138 123 140 138
Feb.		1.0164 150 143 176 133	147 126 134	1.0153 21.0	1.0197 1.0177 1.0116 1.0072		1.0189 190 173 172	158 146 179 179 174 174
Jan.		1.0158 126 161 179 110	143 141 127	1.0151 20.8	1.0197 1.0177 1.0119 1.0015		1.0183 184 152 187	165 130 168 168 160
Year		1945 1946 1947 1948 1948	1950 1951 1952	Density Salinity	Max. Mean Max. Mean Min. Min.		1911 1912 1913 1914	1915 1916 1917 1918 1919 1919

054 078	• 0008	• 0088* 081 102	116 104 116 072*	147*	093 112 111* 112 093	125 090 071
216 209	1.0242	1.0217*1 209 214	220 216 227 205*	244*	209 230 210* 205 203	205 202 207
162 163 1.0167 22.9		1.0165	171 178 182	8	160 174 174 174	176 165 164
126 187 1.0165 22.6	1.0222 1.0197 1.0113 1.0072	1.0187 157 146	182 188 171	176	151 202 184 181 181	156 161 168
120 193 1.0168 23.0	1.0226 1.0199 1.0132 1.0054	1.0193 166 149	167 202 188	190	165 190 159 197 197	190 158 195
166 193 1.0179 24.4	1.0226 1.0205 1.0144 1.01C2	1.0194 175 177	170 199 199	199	161 184  198 194	193 185 189
163 167 1.0187 25.5	1.0231 1.0210 1.0157 1.0091	1.0183 180 183	181 191 194	197	172 187 187 187 191	191 187 178
184 164 1.0190	1.0242 1.0206 1.0164	UK, N.J 1.0171 198 161	199 200 201	204	157 181 182 182 199	191 177 184
190 151 24.7	1.0218 1.0201 1.0156 1.0117	1.0181 194 176	187 202 193	192	164 177 174 174 169	187 182 182
174 149 23.3	1.0211 1.0190 1.0142 1.0106	176 176 176 174	166 194 177 181	8	163 146 149 151 183	180 176 142
161 148 1.0152 20.9	1.0208 1.0184 1.0113 1.0089	1.0149 151 168	160 182 184 137	12 13 13	141 178 142 154 166	172 164 135
164 134 1.0125	1.0206 1.0170 1.0076 1.0008	1.0125 120 162	154 141 164 150	8 1 8	162 172 149 150 159	151 128 130
142 155 1.0148	1.0213 1.0196 1.0086 1.0017	1.0147 172	152 140 178 150	8	133 144 167 149 149	164 151 158
176 160 23.7	1.0223 1.0208 1.0131	1.0161	173 143 189 155	8 0 8	182 180 169 184 145	164 141 151
182 156 1.0166 : 22.7	1.0224 1.0198 1.0125 1.0087	1.0153 : 144	164 157 150 175	8 8	173 148 196 184 130	167 168 152
 1927 1928 Mean Density Salinity	Max. Mean Max. Mean Min. Min.	1887 1888 1889	1890 1891 1892 1893	1944	1945 1946 1947 1947 1948	1950 1951 1952

Continued	
of Sea Water -	and Extremes
Density o	Means a
Table 1.	

Min.			1.0071		1.0150* 205*	210 207 213		1.0150		1.0194* 193* 147*
Max.			1.0244		1.0236*] 262*	282 269 277		1.0282		1.0228*] 246* 244*
Means		1.0171 23.4				1.0244 239 238	1.0236			
Dec.		1.0173	1.0230 1.0196 1.0148 1.0104		1.0232	231 232 231	1.0232 31.4	1.0250 1.0246 1.0217 1.0215		1.0214 235 
Nov.		1.0180 24.6	1.0215 1.0198 1.0157 1.0157		1.0233	247 231 233	1.0236 31.9	1.0258 1.0247 1.0224 1.0224		1.0230
Oet.		1.0187 25.5	1.0244 1.0204 1.0169 1.0128		1.0224 230	242 247 231	1.0235 31.8	1.0262 1.0248 1.0215 1.0212		1.0224
Sept.	ntinued	1.0186 25.4	1.0231 1.0203 1.0166 1.0134		1.0223 236	257 254 248	1.0244 32.9	1.0275 1.0257 1.0253 1.0223	.L.	1.0220
Aug.	. <b>J</b> . –Co	1.0186 25.4	1.0211 1.0199 1.0171 1.0177	NCH, N	1.0217 233	261 239 239	1.0238 32.1	1.0282 1.0255 1.0219 1.0201	ARK, N	1.0215
July	IOOK, N	1.0184 25.1	1.0227 1.0199 1.0164 1.0164	NG BRA	1.0213 240	260 247 242	1.0240 32.4	1.0278 1.0262 1.0217 1.0181	BURY P	1.0219 223
June	ANDY H	1.0169 23.1	1.0216 1.0191 1.0146 1.0096	LOI	1.0198 234	254 244 259	1.0238 32.1	1.0277 1.0257 1.0217 1.0156	ASI	1.0216 211
May	Š	1.0159 21.8	1.0206 1.0183 1.0127 1.0127		1.0206 232	243 240 238	1.0232 31.4	1.0259 1.0252 1.0206 1.0150		1.0222
Apr.		1.0148 20.4	1.0207 1.0177 1.0117 1.0117 1.0081		1.0231	236 240 240	1.0237 32.0	1.0263 1.0257 1.0214 1.0208		1.0216
Mar.		1.0154 21.2	1.0209 1.0188 1.0120 1.0090		1.0223	229 230 233	1.0229 31.0	1.0258 1.0248 1.0209 1.0205		1.0233
Feb.		1.0165 22.6	1.0216 1.0189 1.0132 1.0132			1.0232 234 230	1.0232 31.4	1.0256 1.0251 1.0220 1.0220		1.0231
Jan.		1.0162	1.0210 1.0183 1.0134 1.0033		8 8 8 8 8 8	1.0237 234 229	1.0233 31.5	1.0253 1.0251 1.0219 1.0217		1.0220 231
Year		Mean Density Salinity	Max, Mean Max. Mean Min. Min.		1548 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1945 1946 1947

	.0211 202	210	212	219*	212	210*	212	214		210	199	205	217	209	208	210	223	207	213	210	21.2	206	205	207	204	204	202	221	220	211	207
	1.0247 1 245	247	244	239*	239	240*	240	239		242	238	247	247	250	251	250	257	247	256	260	248	243	249	247	244	246	244	253	254	251	256
	1.0236 235	235	234	1	229	1	228	228		231	227	235	238	234	235	238	240	236	237	238	231	231	233	230	232	233	233	241	236	236	237
	1.0237 236	237	235	229	229	230	227	228		227	229	234	235	222	251	235	240	238	232	234	236	234	227	230	228	240	232	242	229	244	228
	233	237	236	233	228	233	226	233		228	230	232	242	226	244	236	241	239	235	236	234	228	235	232	234	237	234	246	234	240	229
	.0237 ] 235	237	233	236	231	231	228	235		230	227	236	241	229	237	238	244	238	242	237	232	231	233	232	222	237	237	247	230	241	232
	•0238 1 239	236	232	233	230	233	230	229		232	229	239	236	231	226	241	244	234	244	236	227	223	234	231	232	230	234	247	232	239	238
ITY, N.	• 0239 1 238	232	235	230	230	231	230	229		232	231	236	237	238	233	242	242	229	245	236	230	236	235	233	236	229	237	242	232	243	239
NTIC C	•0239 1 242	232	237	230	231	231	232	230		233	230	241	240	238	241	242	245	232	248	242	235	235	234	228	235	239	231	243	237	239	243
ATLA	0240 1 231	234	233	229	231	229	229	219		237	225	243	242	239	238	240	243	236	243	244	235	234	237	235	235	237	229	241	239	236	237
	225 1 225	221	235	232	225	230	225	223		235	222	235	236	242	227	236	243	239	232	241	231	235	239	235	237	224	227	242	240	233	237
	L.0233 ] 231	234	234	1 5 8	224	224	226	228		228	226	224	236	231	236	230	237	235	231	237	223	226	228	227	235	231	225	236	237	230	228
	.•0231 ] 238	237	230	230	228	226	225	226		229	227	230	237	232	231	238	233	236	229	245	228	232	230	229	234	230	235	237	239	229	238
	.•0239 ] 238	238	227	232	231	233	230	229		229	226	233	237	237	229	238	233	239	232	241	232	231	230	222	231	229	237	235	238	230	246
	L.0232 ] 232	240	236	232	231	9 0 8	228	231		231	225	234	237	237	227	238	232	238	234	232	227	232	231	223	230	230	237	231	240	228	246
	1912 1 1913	1914	1915	1916	1917	1918	1919	1920	1	1923	1924	1925	1926	1927	1928	1929	1930	1931	1932	1933	1934	1935	1936	1937	1938	1939	1940	1941	1942	1943	1944

=

\*Cbservations for the year are incomplete; extremes are for the months shown.

- Continued	
Water	tremes
of Sea	and Ex
Density	Means
Table 1.	

Min.		•0206 205 221 197 139	216 202 201		.• 1097	0203* 187* 166*	168* 154 159 180*	145*
Max.		1.0242 245 248 248 245 247 247	251 243 245	1.0260		1.0235*1 241* 226*	239 233 234 229	231*
Means		1.0231 229 236 231 233	238 232 231	1.0234 31.6			1.0209 210	3 6 8
Dec.		1.0220 237 234 231 231 231	23 <b>4</b> 23 <b>4</b> 234	1.0233 31.5 1.0249	1.0234 1.0224 1.0206	1.0214 214 	215 211 220 220	201
Nov.		1.0230 238 240 233 233 233	239 230 235	1.0235 31.8 1.0253	1.0227 1.0206	1.0225 220 	217 219 219 219	219
Oct.	77	1.0230 231 242 230 237 237	236 236 235	1.0235 31.9 1.0252	1.0227 1.0227 1.0204	1.0231 219 	220 206 227	215
Sept.	ontinue	L.0230 231 234 232 232 241	238 237 230	1.0234 31.6 1.0253	1.0226 1.0227 1.0207	218	219 214 224	219
Aug.	N.J. –C	L.0224 231 233 233 235 236 236 236 236	242 236 226	1.0234 31.6 1.0253	1.0226 1.0210 ARBOR	220	219 212 223	220
July	сіту, і	L•0232 228 239 235 235 238	244 234 235	1.0236 31.9 1.0257	ATER H	214	219 211 220	214
June	LANTIC	L•0237 229 235 221 237 237	243 228 230	1.0235 31.8 1.0260	1.0197 REAKW	1.0208	215 200 210 	196
May	ATI	1.0239 233 236 236 236 234 234	231 236 224	1.0233 31.5 1.0257	1.0199 B	1.02.09	208 202 	8
Apr.		1.0236 227 235 231 230 230	237 229 231	1.0231 31.2 1.0254	1.0201	1.0205 198	200 208	1
Mar.		1.0228 220 237 237 229 223	234 228 228	1.0231 31.2 1.0249	1.0205 1.0221	1.0206	211 190 220	1
Feb.		1.0236 224 235 236 236 226	233 225 235	1.0233 31.5 1.0253	1.0224 1.0224 1.0202	1.0209	218 218 134 208	1 8 8
Jan.		1.0229 221 235 237 224	238 235 228	1.0232 31.4 1.0256	1.0224 1.0224 1.0199	1.0203 21.6	207 194 218	8
Year		1945 1946 1947 1948 1948	1950 1951 1952	Mean Density Salinity Max.	Mean Max. Mean Min. Min.	1921 1922 1923	1948 1948 1949 1950	1952

	• 0145	0°9990 0°9988*	19989 99990 99990 99990 99991	), 9992 ), 9993 ), 9992 ), 9991 ), 9985	), 9989 ), 9989 ), 9989 ), 9989 ), 9988	. 9987 . 9987 . 9989 . 9989 . 9988
	0241	0012 0002*0	0005 0004 0009 0009	0009 0011 0007 0008 0008	0008 0006 0006 0008 0008 0001	0005 0005 00007 000007 00007 00007 00007 000007 000007 000007 000007 000007 000007 00007 00007 000007 00007 000000
		нн	пппп	пппп		пппп
1.0212 28.8			0	0。9999 0。9999 0。9999 1。0000 0。9999	1 • 0000 0 • 9997 0 • 9996 0 • 9998 0 • 9995	0.9994 0.9995 0.9996 0.9996 0.9996
.0212 28.8	0230 0224 0196 0185	). 9995 ). 9995	), 9991 (), 9992 (), 9992 (), 9996 (), 9996	79997 99999 79999 79999 79997	), 9995 ), 9994 ), 9995 ), 9993 ), 9993	. 9993 9995 9995 9994 9993
• 0220 ] 29.8	• 0233 1 • 0229 1 • 0202 1 • 0182 1	• 9995 (	• 9992 • 9992 • 9992 • 9997 • 9997	99998 0000 0000 0000	99998 ( 9994 ( 9995 ( 9998 (	99996 ( 99994 ( 99996 ( 99994 (
.0220 1 29.8	0239 1 0229 1 0201 1 0168 1	• 9997 C	9994 0 9993 C 9995 C 9995 C	99998 0000 1000 0000 1000 0000	• 0002 C • 9995 C • 9997 C • 9998 C	• 9993 • 9997 • 9998 • 9996 • 9996 • 9993
.0220 1 29.8	0232 1 0228 1 0206 1 0136 1	• 9999 C	9996 0 9995 0 9997 0 9999 0 9999 0	99999 0003 1 0003 1 0003 1 0003 1	0000 0000 0000 0000 0000 0000 0000 0000	9994 0 9998 0 9998 0 9997 0 9997 0
.0220 1 29.8	0234 1 0229 1 0210 1 0200 1	<b>HIA, PA</b> . 00000 0 99997 0	0 1000 0 9996 0 9996 0 9996 0 9996 0 1000 1	99999 0 0002 1 9999 1 0002 1	0 99996 0	0 9666 0 9686 0 2688 0 26888 0 268888 0 26888 0 26888 0 26888 0 26888 0 26888 0 268888 0 268888 0 2688888 0 268888 0 268888 0 2688888 0 268888 0 2688888 0 2688888
.0217 1 29.4	0231 1 0227 1 0202 1 0202 1	ADELPI -9999 1 -9994 0	99996 99997 99999 99999 1 00000 1	0003 0002 0002 0003 1 0003 1 0001 1	1 1000 9998 0 0 0000 1 0000 1 0000 1 0000	0 1666 0 2000 0 0000 0 2666 0 266 0
•0206 1 28•0	.0230 1 .0219 1 .0177 1 .0145 1	0	• 9996 0 • 9995 0 • 9997 0 • 0000 0	0003 1 0001 1 0000 0 0000 1 0000 1	• 0003 1 • 9997 0 • 0000 1 • 0000 1	9596 99996 9997 9999 9999 9998
0206 1 28.0	0222 1 0218 1 0192 1 0184 1	• 9996 1 • 9999	.9996 0 .9995 0 .9994 0 .9999 1	1 2000 0001 1 0009 1 0000 1 1 0000	• 0002 1 • 9999 0 • 9996 1 • 0003 1	• 9995 0 • 9996 0 • 9997 0 • 9998 0 • 9998 0
.0203 1 27.6	0241 1 0225 1 0176 1 0154 1	0 9666 °	• 9994 • 9991 • 9992 • 9996 • 9996 • 9996	. 0000 1 0000 1 0000 1 0000 1 0000 1 000000	0000 1 9997 0 9994 0 9998 1 9998 1	9992 0 9994 0 9994 0 9995 0 9995 0
.0207 1 28.1	0232 1 0218 1 0172 1 0158 1	.9996 0 .9994 0	. 9992 . 9991 . 9991 . 9992 . 9992 . 9998	<ul> <li>9998</li> <li>9998</li> <li>9999</li> <li>9999</li> <li>9999</li> <li>9999</li> <li>9999</li> </ul>	. 99995 0 . 99955 0 . 99955 0 . 99955 0	9993 C 9993 O 9994 O 9994 O 9994 O
.0206 1 28.0	.0233 1 .0220 1 .0188 1	0 9666 0 9996 0	• 9992 • 9992 • 9992 • 9992 • 9994 • 0	0 9666 0 8666 0 8666 0 8666 0 8666	9996 0 9996 0 9995 0 9995 0 9995 0	9993 0 9993 0 9993 0 9994 0 9994 0
.0208 1 28.2	0229 1 0223 1 0190 1 0159 1	9995 0 9996 0	9991 0 9992 0 9992 0 9993 0 9995 0	0 2000 0 2000 0 0 2000 0 0 0	9998 0 9995 0 9994 0 9996 0 9995 0	9992 0 9993 0 9993 0 9994 0 9992 0
n sity 1 inity 1	. Max. 1 Nin. 1 1	1923 0 1924 0	1925 0 1926 0 1927 0 1928 0 1929 0	1930 0 1931 0 1932 0 1933 0 1934 0	1935 0 1936 0 1937 0 1938 0 1938 0	1940 0 1941 0 1942 0 1943 0 1944 0
Mear Den Sal	Max. Meal Mear Min.					

Min.	1665 °(		.0985		•0156* 095		0154* 115 124	137	101*		1010.
Max.	1.0003 0		1.0012		1.0234*] 240		1.0208*] 196 199	200	209 196*		1.0209
Means	9666 0 0 9663	0.9997			1.0132		 1.0164 164	170	191	1.0163	
Dec.	9666 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.9995 0.4	1.0004 0.9997 0.9992 0.9989		1.0197 193		1.0171 159 182	153		1.0168 23.0	1.0204 1.0183 1.0156 1.0156
Nov.	9666°0 0°6666°0	0°6 0°6	1.0005 0.99999 0.9992 0.9992		1.0199 196		1.0177 177 182	171	173	1.0176 24.1	1.0208 1.0197 1.0160 1.0152
Oct.	d 0.9993 0.9995	7.0 7.0	1.0009 1.0002 0.9992 0.9987		1.0211 195		1.0179 167 188	175	186 168	1.0177 24.2	1.0209 1.0192 1.0163
Sept.	ontinue 0.9995 0.9997	0.5998 0.8	1.0011 1.0003 0.9994 0.9989	VA.	1.0196 199	), VA.	1.0178 174 179	182	176	1.0178 24.3	1.0200 1.0193 1.0160 1.0160
Aug.	PAC 0.9996 0.9999	0,9998 0.8	1.0011 1.0004 0.9993 0.9990	BEACH	1610.1	ES (town	1.0175 167 171	182	174	1.0174 23.8	1.0195 1.0139 1.0154 1.0150
July	LPHIA, 0.9998	6°0 6666°0	1.0009 1.0003 0.9994 0.9988	OPEKE	1.0180	CHARLI	1.0171 168 171	175	162 162	1.0169 23.1	1.0199 1.0190 1.0146 1.0146
June	HILADE 0.9995 0.9999	6°0 6655°0	1.0012 1.0004 0.9994 C.9990	KIPT	1.0167	CAPE	1.0150 164	168	154 147	1.0157 21.6	1.0198 1.0175 1.0135 1.0124
May	<b>P</b> 0.9997	0,9998 0.8	1.0008 1.0002 0.9993 0.9989		1.0152		1.0145 153	157	147	1.0146 20.1	1.0183 1.0169 1.0122 1.0122
Apr.	0.9996 0.9996	9°0 9335°0	1.0005 0.99999 0.9993 0.9938		1.0162		.1.0158 145	155	142 140	1.0148 20.4	1.0175 1.0164 1.0163 1.0109
Mar.	0.9991 0.9994	0.9995 0.4	<b>1</b> • 0002 0 • 9997 0 • 9992 0 • 9989		1.0176		 1.0167 143	163	144 141	1.0152 20.9	1.0191 1.0180 1.0134 1.0124
Feb.	0.999 <b>1</b> 0.9994	0.9994 0.3	1.0002 0.9997 0.9992 0.9985		1.0182		1.0169 141	174	148	1.0156 21.4	1.0196 1.0175 1.0178 1.0128
Jan.	0.999 <b>1</b>	0.9994	1.0002 0.9997 0.9992 0.9989		1.0194		 1.0166 148	179	140	1.0160 22.0	1.0188 1.0172 1.0149 1.0133
Year	1945 1946	Mean Density Salinity	Max. Mean Max. Wean Min. Min.		1951		1947 1948 1949	1950	1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

	* *	*					*				
	.0149 063 106	029 074	104 086 058		• 0029		0,9985 0,9986 0,9986	- 9968 9.9968 9.9983		0083	00000
	.86* <b>]</b> 92 69*	74*	75 88 78		1		959+ 0 001 0 003 0	000000000000000000000000000000000000000		900	
	1.01		ннн		1.01		0.09 1.00 1.00	1.00		1.00	
	0153	130	145 139 135	0140				999 <b>5</b> 999 <b>4</b>	9994 0.3		
	1						00	000	<u> </u>	0 1 0 1	
	1.0170	102	144 157 141	1.0146 20.1	1.0186 1.0166 1.0116 1.0116		0 9995 0 9995 0 9995	C.9999 0.9995 0.9993	0,9993 0,2	0.9999 0.9999 0.99890 0.99890	1.000
	1.0166 167 153	146 140	162 158 160	1.0156 21.4	.0180  .0168  .0168  .0139		0• 9990 0• 999 <b>1</b> 0• 9992	0.9994 0.9993 0.9993	0•0 0•0	1.0000 0.9996 0.9986	00000
	167 ] 153 136	147 159	L47 L64 L57	1.2	180 1 169 1 138 1 116 1		994 ( 990 ( 993 (	995 (992 (992 (992 (992 (995 (995 (995 (	993 ( 2	666 988 988 988 988	200
	1.0			<b>1.</b> 0] 2]	<b>1</b> .02		0.00	0 0 0	6 0 0		
١A.	 0169 141	154 143	154 158 161	0154 21.2	0171 0171 0131 0131		9994 9992 9993	9696 9995	9995 0.4	000 <b>0</b> 000 <b>1</b> 0990	0000
RT, V	н 1 0	<b>~</b> (2)				Ä		000	0		>
OMFOF	1.0182	149 146	162 152 167	1.0155 21.3	1.0192 1.0169 1.0140 1.0106	ND, V	0.9994 0.9994 0.9995	0,99995 0,99995 0,99995	0-9996 0-6	1.0006 1.0000 0.9991	0.000
INT CO	 .0164 138	155 142	154 143 149	.•0149 20•5	0185 0165 0132 0111	існмо	.9992 .9995 .9997	9998 0001 99997	79997 0•7	0005 0001 9992	0000
D PO	45 1	29	31 20 130	.34 <b>]</b> 3 <b>.</b> 6	63 1 53 1 08 1 92 1	R	95 ( 995 (	995 C	996 (	000 1 000 1 000 1 000 1 000 000 000 000	200
OLI	1.01	44		1.01			5 5 5 0 0 0	0.99 0.99	0 0		200
	 )144 144	120	129 118 107	0125	0156 0140 0101		2666 2666 2662	9997 9999 9998	9396 0•6	0004 0000 0992	0000
	1.0			1.0			000	000	0		
	1.0125 15C	107 113	138 105 112	1.0121 16.9	1.0166 1.0141 1.0089 1.0089		2666 °0 1666 °0	0.9994 0.9997 0.9997	0.2 0.2	1.0001 0.9998 0.99885 0.99885	000000
	117	119	135 119 103	120	16C 142 186		080 090 093	990 995 991	992 • 0	003 996 989	000
	1.0.			1.0] 16	1.00 1.00 1.00		0°00	6 6 0 0 0	0 0		5
	 0157 148	121 097	134 134 108	0128	0188 0155 0096 0058		 0666	9990 9992 9993	0°0 1536	9996 9994 9988	202
			0	н 1			00	000	0	0000	
	 0158 144	105	150 144 127	0138	0175 0158 0118 00186		0666	9992 9994	9992 C ()	99999 99969 99869	2000
	541	00	0 10	y 1.			00 004	000	y 0.	0000	5
	194 194 194	194	195 195	un nsity linit	c. in Max in Min		194 194 194	195 195	an insity linit	t. An Max An Min	
				Met De Sa	May Mea Mea				Met De Sa	Ma. Me. Me.	

Min.	.0115*	5	• 0074		,99985 ,99885 ,99985 ,99988 ,99990 ,99992	.9985
Max.	1.0193*1 170	4	1.0201		1.0007 1.0006 1.0007 1.0007 1.0007 1.0007 1.0007 1.0007 1.0007 1.0007 1.0007 1.0007 1.0007 1.0006 1.0007 1.0006 1.0007 1.0006 1.0007 1.0006 1.0006 1.0007 1.0006 1.0007 1.0006 1.0007 1.0006 1.0007 1.0006 1.0007 1.0006 1.0007	U
Means	1.0142	1.0139			0,9995 0,9993 0,9991 0,9995 0,9996 0,9996 0,9996 0,9996	
Dec.	1.0148 157	1.0149 20.5	1.0170 1.0163 1.0126 1.0121		0,9995 0,9989 0,9990 0,9992 0,9995 0,9995 0,9995 0,9995 0,9996 0,9996 0,9996	0,9986
Nov.	1.0164 159	1.0159 21.8	1.0193 1.0176 1.0140 1.0123		0.9995 0.9991 0.9992 0.9992 0.9995 0.9995 0.9994 0.9994 0.3	0.9987
Oct.	1.0145 163	1.0154 21.2	1.0170 1.0163 1.0145 1.0132		0.99996 0.9992 0.9993 0.9993 0.99995 0.99996 0.99996 0.99996 0.39998 0.39998 0.39998	0.9989
Sept.	, VA. 1.0152 156	1.0155 21.3	1.0201 1.0175 1.0145 1.0142	ci	0.9997 0.9993 0.9995 0.9995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996	0.9985
Aug.	POINT 1.0155 152	1.0156 21.4	1.0186 1.0169 1.0149 1.0148	TON, D.	0.9997 0.9994 0.9994 0.9997 0.99998 0.99998 0.99997 0.99997 0.99997 0.9993 0.7	06666*0
July	CESTER 1.0151 147	1.0144 19.9	1.0162 1.0159 1.0129 1.0118	SHING	0.9997 0.9993 0.9996 0.99998 0.99998 0.99998 0.99998 0.99998 0.99998 0.9993 0.7	0666*0
June	GLOU( 1.0133 131	1.0130 18.0	1.0155 1.0149 1.0113 1.0104	WA	0.9995 0.9995 0.9996 0.99996 0.99998 0.99998 0.99998 0.99998 0.9998 0.9998 0.7 0.7 0.9998	06666*0
May	1.0120	1.0114 16.0	1.0137 1.0133 1.0092 1.0074		0.9997 0.9994 0.9995 0.9995 0.99996 0.99998 0.99998 0.9996 0.9996 0.9996 0.9996	0.9989
Apr.	1.0119	1.0116 16.2	1.0133 1.0128 1.0098 1.0087		0.9993 0.9998 0.99989 0.99933 0.99993 0.99996 0.99997 0.9994 0.39997 0.39997 0.9997	0.9987
Mar.	1.0124	1.0122 1.0122 17.0	1.0141 1.0136 1.0106 1.0106		0.9994 0.9994 0.9988 0.99888 0.99988 0.99996 0.99996 0.99996 0.99996 0.99998 0.99998 0.99980	0.9986
Feb.	1.0134	1.0129 17.9	1.0143 1.0140 1.0116 1.0111		0.9994 0.9994 0.99887 0.99887 0.99987 0.99995 0.99995 0.99995 0.99989 0.99989	0.9985
Jan.	1.0143	1*2 1.0142 19.6	1.0158 1.0157 1.0122 1.0114		0.9994 0.9993 0.9987 0.9988 0.99990 0.99992 0.99995 0.99989 0.99989	0.9985
Year	1951	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1944 1945 1946 1946 1948 1948 1950 1950 1950 1952 Mean Mean Max. Mean Max. Mean Max.	Min.

	)6 <b>4</b> )41*	)42* )65 )68 )33 )33	)45 )46 )44 )39 )46	)50 )49 )37	03.3	255* 229 241 006 333
	1.00		00000	000	1.00	1.00
	0127 131*	139* 148 145 135 135	129 123 126 127 127	128 126 119	0148	0066* 092 102 095 104
		1 10 10 10 10	10 (0 (0 <del>(1</del> 0)	10 O M 10 10		
	1.0096	111	80 80 80 80 80 80 80 80 80 80 80 80 80 8	0960 0960 088 088 1 • 0095		1.0059 074 062
-	1.0108	109 140 093 116 130	073 119 120 120 131	081 117 095 1.0110	1.0120 1.0028 1.0098 1.0060	1.0043 086 093 063 063 096
	1.0122 123	120 136 105 123 123	090 116 118 122 128	113 122 114 1.0119	1.0142 1.0126 1.0111	1.0057 085 094 082 095
	1.0108	116 136 113 128 128	083 110 112 112 124	108 114 106 1.0113	1.0143 1.0121 1.0105 1.0080	1.0058 079 080 082 092
	1.0103	108 124 106 107 109	084 097 093 093 111	102 107 090 14.5	L.0133 L.0133 L.0094 L.0076	L-0054 067 066 065 083
IS, MD.	101	098 112 105 094 100	066 079 078 081 095	098 090 089 13.1	GE, MD.	0039 1 048 057 045 068
DILOMON	880 1,0088	087 107 096 077 099	071 064 075 082 085	088 067 077 12.2		] 057 051 062
SC	1.0089 1 078	071 106 079 054 083	065 056 063 080 080	086 080 062 1.0075	CA	
	1.0082 059	062 093 092 061 069	076 086 079 066 070	076 063 064 1.0073 1	1.0085 1.0085 1.0039	1.0054 067 050 050
	1.0074	066 086 088 088 067 085	730 670 160 630	074 074 056 056 1.0074	1.0021 1.0058 1.0057	1.0053 075 062 044
	1.0084 063	108 117 069 114	083 074 105 100 066	107 082 074 1.0089	1.0130 1.0102 1.0071 1.0043	1.0052 076 076 043
	1.0094	127 108 132 078 126	122 082 106 114 069	096 069 075 1.0100	1.0139 1.0109 1.0088 1.0054	1.0048 078 063 042
	1.0093	124 099 137 077 118	120 070 113 117 075	113 079 097 14.5	1.0145 1.0113 1.0091	1.0039 082 060 049
	1938 1939	1940 1941 1942 1942 1944	1945 1946 1946 1948 1948	1950 1951 1952 1952 Mean Density Salinity	Max. Mean Max. Mean Min. Min.	1945 1946 1947 1943 1948

	Min.		1.0057 043 023		1.0006		1.0011 010 008	026 019 021		1.0008
	Max.		1.0105 103 087		1.0105		1.0101 106 118	111 701 701		1.0113
	Means	-	1.0079 070 058	1.0065 9.6			1.0060 066 066	066 063 060	1.0064 9.4	
	Dec.		1.0080 075 073	1.0076 11.0	1.0104 1.0088 1.0088 1.0062		1.0093 081 103	047 089 074	1.0081 11.6	1.0114 1.0092 1.0064 1.0064
	Nov.		1.0095 086 081	1.0084 12.0	1.0102 1.0091 1.0067 1.0050		1.0092 098 111	097 102 098	1.0100 14.1	1.0113 1.0108 1.0083 1.0063
	Oct.		1.0088 084 073	1.0080 11.5	1.0103 1.0090 1.0070 1.0052		1.0076 092 099	093 090 089	1.0090 12.8	1.0107 1.0101 1.0080 1.0066
	Sept.	ntinued	1.0079 079 066	1.0070 10.2	1.0091 1.0078 1.0058 1.0058		1.0057 066 086	078 079 062	1.0071 10.3	1.0095 1.0082 1.0059 1.0059
Extreme	Aug.	D. –Cor	1.0071 072 056	1.0057 8.5	1.0081 1.0065 1.0048 1.0048	IS, MD.	1.0043 054 067	068 063 059	1.0059 8.8	1.0083 1.0069 1.0051
eans and	July	DGE, MI	1.0064 069 059	1.0058 8.6	1.0076 1.0064 1.0049 1.0033	NNAPOL	1.0040 053 061	055 058 057	1.0054 8.1	1.0077 1.0061 1.0048 1.0028
M	June	AMBRII	1.0064 064 046	1.0056 8.4	1.0075 1.0063 1.0047 1.0039	A	1.0025 044 050	049 060 042	1.0045 6.9	1.0065 1.0056 1.0034 1.0021
	May	0	1.0063 057 041	1.0055 8.2	1.0079 1.0063 1.0044 1.0044		1.0037 035 042	051 040 042	1.0041 6.4	1.0058 1.0052 1.0029 1.0016
	Apr.		1.0073 058 042	1.0058 8.6	1.0084 1.0067 1.0046 1.0023		1.0037 029 050	044 036 033	1.0038 6.0	1.0063 1.0052 1.0022 1.0011
	Mar.		1.0083 060 048	1.0063 9.3	1.0093 1.0072 1.0052 1.0052		1 • 0080 055 053	074 048 056	1.0061 9.0	1.0010 1.0075 1.0078
	Feb.		1.0090 060 045	1.0061 9.0	1.0093 1.0072 1.0047 1.0018		1 • 0064 092 043	071 037 047	1.0059 8.8	1.0106 1.0074 1.0036 1.0013
	Jan.		1.0097 070 064	1.0066 9.7	1.0105 1.0080 1.0046 1.0006		1.0079 094 032	064 051 067	1.0064 9.4	1.0096 1.0080 1.0042 1.0008
	Year		1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1947 1948 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

Table 1. Density of Sea Water - Continued

										_																					
	1.0013	021	014	020	012	013	110	017	013	019	*700	014	026	016	600	008	028	022	025	015	026	024	900	016	028	016	015	028	024	012	017
	1.0109	108	077	083	079	060	640	080	087	089	067*	960	094	081	110	088	132	132	060	080	084	089	089	160	093	105	115	111	126	107	118
	1.0062	090	044	050	047	047	047	051	049	059	8	059	057	046	039	049	073	083	062	053	057	056	052	053	090	190	068	640	064	052	070
	1.0100	076	071	077	067	047	053	064	082	074	062	081	035	034	065	061	124	160	010	068	065	073	640	059	078	100	067	106	052	086	260
	6600*1	067	066	063	062	058	063	073	072	087	062	072	043	045	059	063	125	094	068	071	690	072	082	057	084	680	080	100	058	078	104
	.0089	058	057	070	062	055	064	073	090	079	040	077	090	064	040	065	106	086	081	059	070	070	077	079	083	083	081	093	010	101	097
	• 0066 ]	048	051	047	059	049	059	063	020	057	043	170	061	071	038	062	083	083	076	047	058	061	068	064	070	081	079	085	690	082	078
RE, MD.	.0058 1	041	023	032	047	035	036	049	042	057	026	058	065	047	020	050	065	062	065	053	053	044	063	049	055	062	064	081	057	050	053
LTIMOF	.0051 1	047	019	024	038	028	045	047	021	053	010	051	064	043	014	037	058	054	056	051	048	042	051	048	052	052	053	059	058	030	043
BA	.0042 1	052	025	039	023	018	036	040	025	033	600	020	059	027	027	022	066	041	036	042	044	049	035	028	050	042	037	690	040	019	043
	.0026 1	061	026	045	030	031	022	031	028	036	014	056	048	036	024	012	049	051	037	023	039	045	017	026	048	035	029	070	049	610	024
	.0024 1	074	031	031	032	046	014	026	020	028	015	050	045	034	032	023	039	067	043	030	040	042	013	053	042	030	031	045	051	040	053
	.0062 1	074	059	047	026	090	041	035	046	020	8	031	053	042	050	044	046	125	075	090	062	043	023	063	050	033	092	080	073	033	071
	.0053 1	050	050	061	056	080	067	058	690	074	048	043	068	044	043	080	062	122	061	070	078	064	051	058	052	053	100	085	102	046	094
	0076 1	065	050	062	059	062	063	050	061	080	042	069	083	063	043	070	050	123	078	010	063	062	066	020	059	077	102	078	096	035	086
	1914	1915	1916	1917	1918	1919	1920	1921	1922	1923	1924	1925	1926	1927	1928	1929	1930	1931	1932	1933	1934	1935	1936	1937	1938	1939	1940	1941	1942	1943	1944

-

\*Observations for the year are incomplete: extremes are for the months shown.

ſ				~	_	न्म	ता	0	<u>ж</u>	0					বা		# ð	+ 	۔ م	4 M	*						6
	Min.		001	õ	5	ð	Õ	6	5	010					Ŏ00		.022			30	0 0 0 0						• 01 9
			51,	8	3	ß	N	ю	*6	9			N		,		5*1	+ •	0	* =	.*.			4			H
	Max.		010	60	60	60	10	08	08	60			• 01 3				028			0 2 0	2 80 2 80			029			
=	70		3 1.	<u>ස</u>	-1	0	2	23	1	Ø	ۍ د		-					• •	ρι	0 6	- 1		-	-			
	Ieans		004	04	02	90	02	05	8	04	005	8.8							920	2 C 2 C	2	.026	35.				
$\left  \right $	2		3 1.	4		0	0	7	1	9	<u>Б</u>	8	~ 0	20	4		<u>م</u> ک	- 0	1	ມດ	2	1	6	9	9	0	
	Dec.		004	20	00	02	080	03	t t	90	007	10.	012	005	000		025		1.2	3 C		025	34.	028	.027	024	023
			1.	m	M	_	ы	m	ю	e:H	4 7	2	ст. С.	ч ч	61.			~ (	Эс	0 4	н в	<b>5</b> 8	ø	81.	3 1.	7 1,	7 1.
	Nov.		004	02	01:	08.	60	07:	08	01	007.	10.	013		002		100	# 0 0 0		2 0		025	34.	028	028	023	021
			1.	- `	~	<i>(</i> 0	~	10	.0	~	2 <b>1</b> •	<i>(</i> 0	, <mark>,</mark>		7 1.		-	•	<b>m</b> (	אר		01.	0	0 1	L 1.	0.1.	9 1.
	Oct.		0040	072	068	080	088	075	075	078	0073	10.6	0128	1900	002			1 0 0 0	9.0	2 i 2 v 2 v		026(	35.(	028	02.8.	023(	019
	~		1.		_						<b>1</b>				-			•	- 44			1.			3 1.		1.
	sept.	ned	046	048	040	072	079	061	064	053	0063	9°3	0104	0051	0023	HIF	0239 260		672	000		02.57	34.6	0287	0278	0235	0222
	01	ntin	1.(								1.(	0,	л. ()		1•(	HTS	л•(					- -		٦.	1.	<b>1</b>	1.
	.gn	ပို	020	039	027	046	061	061	048	047	049	• 5	0600	6400	014	LIG	247	- 0.2	275	2055		0265	55 <b>°</b> 7	0293	0284	0238	0221
	¥.	<u>.</u>	1.0								1.0	-			1.0	AL	1•0					1.(		1.0	1.(	1.0	1.0
	uly	Σ	029	028	028	045	048	040	039	036	042	9	069	035	007	SHO	261 256	000	276	2 2 2 2		264	5.5	284	281	237	204
	J	ORI	1.0								1.0	9	1.0		1.0	Q	1.0					1.0	60	1.0	1.0	1.0	1.0
	ine	TIM	028	025	023	037	044	02 9	1	030	036	ထ	082	040	007	MOI	274	1 1 1 2	212	0 / 0 7 4 0		265	5.7	290	282	237	200
	Ju	BAL	1.0	-	-						1.0	Ω	1.0	0 C	1.0	DIA	1.0					1.0	ю	1.0	1.0	1.0	1.0
	ay		031	047	038	032	032	035	-	033	035	9 O	086	045	008		272	603	200	010		264	5.5	294	284	240	222
	Μ		1.0(	Ŭ	Ŭ	Ŭ	Ŭ	Ŭ	•	Ŭ	<b>1</b> 00	ູ	0 1	ŏŏ ¬¬	<b>1</b> •0		1.0			•••		1 0	3	<b>1</b> 0	1.0	1.0	1.0
	ъ.		23	<b>11</b>	)42	022	042	37	ł	024	036	ß	14	024 024	80		- 40	10	000	202	32	258	1• 3	281	279	225	207
	Aŗ		1.00	0	0	0	Ű	0		0	1.00	ິດ	1.0	о о о	1.0		5	ŏ ∙				1.0	3	1.0	1.02	1.0	1.02
	Ŀ.		33	29	72	61	45	62	ł	45	54	-	32	372	201		1 2	000	89		89	56	• 2	80	576	227	<b>215</b>
	Ma		00	0	0	0	0	0		0	00.1	œ	1.01		1.00		- 6			N C	1 64	1.02	34	1.02	1.02	1.02	1.02
	p.		95 ]	49	53	81	39	63	33	38	64	4	30	49	14				64	200	68	62	5	83	78	34	22
	Fe		8	0	0	0	0	0	0	0	00	°o	10.1		00				05	20	1 01	L • 02	3	L • 02	1.02	1.02	L.02
	ŋ.		78 1	40	68	85	34	50	33	52	65 ]	9	26 ]	51 ]	19		1		54	202	202	62		84	80	32	24
	Jai		• 00	Ó	Õ	Õ	0	0	0	0	0.	°0	•01	88	00				02	20	3 03	02	35	L • 02	1.02	1.02	L.02
			45 1	46	47	48	49	50	51	52	۸ ۲	ty		х н	-		23	54	25]	000	- 82		ty		х.	. ц	
	Year		19.	19.	19	19	19.	19	19	19	an nsit	Intl		an Ma an Mi	÷		19	1	61		101	an Dnsit	lini	ж.	an Ma	an Mi	п.
											Me	S	Ma	Me	MII							Me	S	Ma	Me	Me	MI

	1.0020* 018 000 016	0.9991 1.0009 015	<b>1</b> 666 °C	1.0185* 184 023	130 147 181 070 143	
	1.0240*. 260 260 260 249	268 256 256	1.0268	1.0244*. 249 240	258 255 257 248 240	o this
	1.0148 151 151	172 196 173 1,0162	2 2 2 2	1.0212	223 220 236 236 205 205 208	- On prod
	1.0173 140 103 183	187 188 177 1.0164	1,0255 1,0255 1,0084 1,0009 1,0009	1.0220 226 210	238 246 244 227 227 221	han the
	1.0164 119 155 165	204 208 206 206 1.0174	23.8 1.0256 1.0249 1.0089 1.0030	1.0224 237 198	244 247 240 215 215 217	own.
	1.0146 147 194 193	203 234 206 1.0189	1.0268 1.0250 1.0083 0.9991 S.C. †	1.0222 220 134	252 249 234 162 211 211	nths sh
vi	1.0145 138 224 132	138 223 171 1,0174	23.55 1.0260 1.0248 1.0100 1.0021 1.0021 Wharf),	1.0217 200 207	250 241 217 169 222 222	the mo
ORT, N.(	1.0114 180 200 165	168 184 202 1.0173	1.0265 1.0246 1.0076 1.0071 1.0021	1.0214 208	243 234 198 210 224	are for arlesto
оитнро	1.0093 168 197 138	100 200 219 1.0159	21.02 1.0252 1.0225 1.0081 1.0001 1.0001	1.0219	233 228 239 239 214 215	tremes r in Ch
ũ	1.0146 204 159 161	182 219 199 1.0181	1.0252 1.0257 1.0109 1.0025 1.0025	1.0211 206 220	237 224 248 248 222 222 210	ete; ex he wate
	1.0114 177 171 171 126	161 191 159 1.0157	21.0 1.0251 1.0075 1.0075 1.0026 <b>CHARL</b>	1.0219 209 198	233 216 249 197 210	incompl tv of t
	1.0145 098 121 151	190 145 137 1.0141	19.02 1.0238 1.0225 1.0045 1.0009	1.0208 197 171	212 187 240 198 198	ar are e densi
	1.0141 125 091 136	153 172 089 1.0130	1.0256 1.0256 1.0051 1.0015	1.0203 207 199	195 174 240 240 182 182 170	the ye in th
	1.0169 064 126	170 135 133 133	1907 1,0255 1,0230 1,0057 1,0000	1.0227 208 201	158 179 244 232 232 191	ons for t chang
	1.0113 132 135	163 193 183 1.0153	1.0249 1.0249 1.0240 1.0067 1.0016	1.0239 203 206	184 214 245 245 240 219 219	servati distinc
	1946 1947 1948 1949	1950 1951 1952 Mean Density	Sallinty Max. Mean Max. Mean Min. Min.	1922 1923 1924	1925 1926 1927 1928 1928	*0b †A

plant near Moncks Corner, S. C. began diverting large quantities of water from the Santee River into the March 1942. Since lighter densities have persisted under the changed conditions, the observations have Cooper River. The plant began operation in January 1942 but did not reach average production before TTA CTT O been separated at the end of February 1942 and are presented as two series.

- Continued	
Water	tremes
of Sea	and Ex
Density	Means
Table 1.	

																								-
Min.		•0166 135	130	122	220	137	161	152	215	154	160	088	157*			• 0023		0035*	034	024	030	040	025	032
Max.		1.0262 1 269	255	248	259	254	251	243	257	253	256	255	264*		1.0269	ſ		1.0240*1	216	206	227	228	228	214
Means		1.0225 238	231	218	242	228	217	214	237	229	232	225	8	1.0223 30.2					118	120	111	120	103	094
Dec.		1.0238	219	236	236	235	223	230	243	245	241	225	1	1.0232 31.4	1.0260	1.0218 1.0173		1.0135	132	123	130	106	160	112
Nov.	nued	1.0241 253	206	227	241	228	217	230	239	245	245	240	1 1 0	1.0232 31.4	1.0256 1.0242	1.0180	series †	1.0146	153	123	115	139	127	101
Oct.	- Contii	1.0244 248	217	222	237	211	225	224	238	244	234	235	8	1.0223 30.2	1.0269	1.0203 1.0023	s puose	1.0166	132	093	131	154	137	108
Sept.	), S.C.†	1.0246 247	229	187	248	175	239	211	244	235	216	214	8	1.0221 29.9	1.0264	1.0189 1.0070	s.c S	1.0154	135	1 00	133	136	144	079
Aug.	e Wharf)	1.0245 249	240	233	253	214	238	226	240	223	218	194	8	1.0227 30.7	1.0260	1.0202 1.0160	Nharf),	1.0175	116	126	112	123	125	113
July	mhouse	1.0230 241	221	233	251	225	237	223	241	226	242	168	<b>60</b> Ch 60	1.0226 30.6	1.0259 1.0243	1 • 0204 1 • 0088	house <sup>1</sup>	1.0160	114	113	137	109	114	106
June	l (Custo	1.0229	222	240	241	246	229	220	236	222	241	240	8	1.0229 31.0	1.0255	1.0213 1.0159	(Custor	1.0108	110	133	103	129	103	102
May	LESTON	1.0218	243	229	243	245	195	200	239	228	234	243	8	1.0224 30.3	1.0256 1.0238	1.0207 1.0161	STON	1.0142	086	127	074	105	089	076
Apr.	CHAR	1.0195	246	216	242	245	134	199	238	214	222	224	8	1.0212 23.8	1.0252	1.0197 1.0146	CHARLE	1.0139	085	125	089	102	070	085
Mar.		1.0209	240	191	239	239	161	192	234	135	215	236	8	1.0208	1.0249	1.0190 1.0143		1.0144	084	118	112	101	061	085
Feb.		1.0199	243	188	235	234	201	187	230	237	227	242	205	1.0214 29.0	1.0251	1.0194 1.0130				125	094	102	086	083
Jan.		1.0202	250	216	240	235	223	218	222	243	244	238	200	1.0224 30.3	1.0264 1.0240	1.0210 1.0150			147	128	101	132	092	078
Year		1930	1932	1933	1934	1935	1936	1937	1938	1939	1940	1941	1942	Mean Density Salinity	Max. Mean Max.	Mean Min. Min.		1942	1944	1945	1946	1947	1948	1949

038 061 039		1.0024		1.0084* 054*		0.9992* 0.9986*		L • 0028* 038*		1.0013	015	100	0.9998	79997	1.0016	600	004	025	
- 229 247 237		1.0247		1.0148*		1.0137*		1.0198*		1.0231	237	224*	211	227 (	224	221	225	232	
127 138 138	1.0120 16.7					1 1 2 1 0 2		: :		1.0118	133	021	113	124	260	101	094	060	
133 168 129	1.0129	1.0247 1.0189 1.0076 1.0038	,	1.0129		1.0040	., S.C.	1.0156		1.0120	137	147	160	107	140	074	052	116	
151 138 141	1.0138 19.1	1.0241 1.0206 1.0076 1.0047		1.0138	R, S.C.	1.0057	ILEY R	1.0172		1.0140	159	148 148	160	134	114	072	135	102	
152 183 123	1.0139 19.2	1.0240 1.0218 1.0075 1.0034		1.0127	R RIVE	1.0050	ırf), ASH	1.0163	GA.	1.0142	168	156	152	123	114	150	141	104	
128 142 134	1.0130	1.0246 1.0205 1.0070 1.0024	ER, S.C	••••	COOPEI	1.0028	Co. Wha	1.0139	RIVER,	1010.1	161	F 0 4	144	116	135	157	131	105	
150 130 151	1.0131	1.0240 1.0203 1.0073 1.0073	O RIVI	1600.1	NALS,	1.0019	iemical	1.0127	ANNAH	1.0115	148	0 1 1	124	132	139	145	150	116	
116 119 125	1.0120	1.0224 1.0189 1.0065	, WAND	1.0097	TERMI	1.0015	olina Ch	1.0131	<li>SAVI</li>	1.0139	084		142	159	126	124	125	101	
111 115 111	1.0113 15.8	1.0228 1.0184 1.0065 1.0052	VINHOY	1.0105	ESTON	1.0007	ila - Car	1.0134	PULASI	1.0139	160	30 B -1 D -1 R	119	154	098	110	860	095	
109 121 111	1.0104	1.0205 1.0156 1.0068	CP	1.0104 078	CHARL	1.0010	l (Virgir	1.0129	FORT	1.0122	148	114	062	097	066	106	093	063	
111 126 079	1.0101	1.0198 1.0157 1.0059 1.0029		1,0064	NORTH	0,9998	LESTON	1.0089		1.0108	115	087	029	113	054	052	039	010	12
124 117 078	1.0102	1.0194 1.0151 1.0063 1.0025		1,0084	_	1.0001	CHAR	1.0085		1.0083	106	067	052	094	062	063	045	068	200 00
125 119 141	1.0110 15.4	1.0237 1.0172 1.0064 1.0041		1.0105		1.0017		1.0112		1 • 0099	116	100	118	101	067	082	042	066	(+) 0+0
113 122 162	1.0120 16.7	1.0215 1.0176 1.0066 1.0034		1.0124		1.0026		1.0150		1.0114	092		094	156	046	094	280	073	S POCK
1950 1951 1952				1951		1951		1951 1952		1940	1941	1943	1944	1545	1946	1947	1948	1949	+ 0.0

fSee footnote (T) on page 31. \*Observations for the year are incomplete; extremes are for the months shown.

Min.	• 0045 045 010		1.656*(		*2600**	155 155 082	147 069 176 063*		• 0063
Max.	1.0232 ] 229 234		1.0237		1.0246*]	275 264 261* 272	272 276 276		1.0276
Means	1.0126 139 132	1.0116 16.2			8	1.0217 209 199	223	1.0214 29.0	
Dec.	1.0140 138	1.0124	1.0218 1.0185 1.0070 1.0004		1.0216	216 221 153 218 218	225 225 223 238	1.0215 29.1	1.0250 1.0239 1.0191 1.0112
Nov.	ed · 1.0120 165 163	1.0137 <b>1</b> 9.0	1.0230 1.0198 1.0076 1.0025		1.0195	210 206 146 230 230	214 214 214 234	1.0205 27.8	1.0262 1.0238 1.0171 1.0104
Oct.	Continu 1.0137 170 163	1.0143 19.7	1.0229 1.0207 1.0086 1.0025		1.0185	194 159 148 189	190 178 221 223	1.0191 26.0	1.02537 1.0237 1.0144 1.0097
Sept.	<b>R, GA.</b> - 1.0104 173 182	1.0137 19.0	1.0227 1.0206 1.0073 1.0032	Ą.	1.0188	186 196 218 212	135 176 258 225	1.0206 28.0	1.0276 1.0253 1.0155 1.0059
Aug.	H RIVEF 1.0159 161 178	1.0143 19.7	1.0234 1.0219 1.0075 1.0025	INA, FL	1.0197	203 206 218 218	239 260 260 242	1.0226 30.6	1.0273 1.0263 1.0167 1.0063
July	VANNAI 1.0163 162 173	1.0136 19.1	1.0231 1.0214 1.0074 1.0024	RNAND	1.0204	215 223 222 222 242 242	245 245	1.0232 31.4	1.0274 1.0262 1.0195 1.0134
June	SKI, SA SKI, SA 1.0116 144 141	1.0124 17.3	1.0220 1.0199 1.0061 1.0030	ΗĒ	1.0219	256 228 227 239	259 254 254 231	1.0238 32.1	1.0275 1.0261 1.0213 1.0173
May	T PULA 1.0134 113 110	1.0104 14.6	1.0237 1.0170 1.0047 1.0012		8 2 8	1.0246 223 214 215 215	249 249 242 230	1.0229 31.0	1.0270 1.0254 1.0197 1.0162
Apr.	FOR 1.0117 097 044	1.0077 11.1	1.0208 1.0142 1.0029 1.0000		å E E	1.0243 218 185 134	233 247 205	1.0210 28.5	1.0272 1.0241 1.0182 1.0082
Mar.	1.0101 111 058	1.0074 10.7	1.0221 1.0149 1.0030 0.9998		8 8 8	1.0226 213 154 156 156	222 227 227	1.0204 27.7	1.C253 1.C254 1.C171 1.C171
Feb.	1.0100 115 115	1.0092 13.1	1.0207 1.0164 1.0039 0.9997		8 8 8	1.0209 195 215 171	233 220 220	1.0203 27.6	1.0244 1.0228 1.0160 1.0147
Jan.	1.0115 126 114	1.0099 14.0	1.0219 1.0184 1.0047 1.0009		8	1.0203 192 226 169	228 228 220 221	1.0207 28.1	1.0254 1.0233 1.0182
Year	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1944	1945 1946 1946 1948	1951 1951 1951	Mean Density Salinity	Max. Wean Max. Wean Min. Min.

	L.0020 0.9999 0.9998 L.0001* L.000	<b>01</b> 4 036 060		99998 • 6		L.0250+	2504	184*	н т.р.т.	220*	257*	240*	244	236	235	240	222	
-	1.0284 ] 267 ( 258 ( 256*] 266*]	270 274 267		1.0284		1.0274*]	276*	276*	1012	280*	279*	278*	277	275	276	293	278	
	1.0156 155 146 	184 193 174	1.0165 22.6			8		8	8	1		1	1.0264	260	264	268	263	
	1.0150 164 135 132 165	148 150 161	1.0151 20.8	1.0252 1.0226 1.0065 1.0020		8	1.0265		143	254	C 0 7	258	252	251	265	262	252	
	1.0128 152 110 110	109 144 114	1.0123 17.1	1.0246 1.0226 1.0039 1.0004		8 1	1.0258	230	102		+02	255	259	257	266	266	256	
	1.0120 138 103 107 115	129 159 143	1.0127 17.7	1.0256 1.0256 1.0031 0.9998		1.0269	262	226	7.57	259	107	254	255	262	265	260	258	
	1.0089 092 150 160 143	175 221 212	1.0155 21.3	1.0265 1.0249 1.0062 0.9999	ı), FLA.	1.0267		269		268	202	267	265	258	269	266	269	
T, FLA.	1.0096 114 140 136 189	243 221 227	1.0171 23.4	1.0269 1.0247 1.0099 1.0029	H (ocear	8	1.0267	268	8 1 0	265		272	269	266	269	269	279	
IAYPOR	1.0116 162 118 188 209	206 223 221	1.0180 24.6	1.0274 1.0256 1.0102 1.0043	A BEAC	1.0270	271	271	603	270		1 0 0	269	267	271	275	263	
2	1.0236 176 198 199 214	232 233 207	1.0212 28.8	1.0274 1.0260 1.0130 1.0062	AYTON	1.0262		271	003	268 266		8	270	270	272	274	266	
	1.0215 183 169 169 184 206	241 247 200	1.0206 28.0	1.0271 1.0258 1.0126 1.0088	Δ	1.0257	2 0	268	8	268	707	8	271	270	271	276	268	
	1.0221 186 138 138 138	217 219 154	1.0189 25.8	1.0284 1.0254 1.0102 1.0053		0057		273		256	270	ł	270	263	257	271	262	
	1.0185 184 139 159 169	163 187 133	1.0160 22.0	1.0254 1.0235 1.0070 1.0070				266		8	263	ł	269	253	260	263	267	
	1.0166 158 169 107 154	187 164 160	1.0158 21.7	1.0246 1.0231 1.0068 1.0020				271	8	231	263	8	267	252	259	269	264	
	1.0154 145 182 182 137 151	141 145 156	1.0151 20.8	1.0241 1.0231 1.0056 1.0023		8   8   8		1.0266		236	267	0 8 8	257	252	248	270	257	
	1945 1946 1946 1948 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1925	1927	1928	676T	1930	1932	1939	1940	1941	1942	1643	1944	i

Min.		.0226 228* 212* 213 226	234*		.0184		0015* 9999* 0097*		• 0246* 244		.0258*
Max.		1.0261 1 283* 278* 278* 250 291	275*		1 • 0293 1		1.0213*1 186*0 172*1		1.0304*1 284		1.0286*1
Means		1.0262 255 254	1	1.0261 35.1					1.0267		1
Dec.		1.0248 244 225 261 250	8	1.0253 34.1	1.0273 1.0261 1.0244 1.0212		1.0165 136		1.0265 267		1.0271
Nov.		1.0247 246  261 256	8 8	1.0255 34.4	1.0275 1.0264 1.02646 1.0246		1.0125 085 		1.0263 261		1.0271
Oct.	tinued	1.0246 249 244 242 243 243	8	1.0253 34.1	1.0269 1.0266 1.0266 1.0236	.ΓΑ.	1.0082 069 		1.0274 258		1.0269
Sept.	A Con	1.0264 260 261 261 261 263	264	1.0265 35.7	1.0291 1.0273 1.0250 1.0234	River), F	1.0040 094	LA.	1.0269 269	<i></i>	1.0269
Aug.	an), FL	1.0270 267 267 266 267	266	1.0268 36.0	1.0278 1.0273 1.0260 1.0247	Halifax	1.0061	EACH, F	1.0269 270	CH, FL/	1.0273
July	CH (oce	1.0269 272 267 272 265 265	266	1.0269 36.2	1.0293 1.0275 1.0275 1.0261 1.0241	<b>BEACH</b> (	1.0161 015 	IOVA BI	1.0269 271	LM BEA	1.0273
June	NA BEA	1.0273 274 267 272 256 256	271	1.0269 36.2	1.0285 1.0276 1.0276 1.0262 1.0238	TONA	1.0200	CAN	1.0271 271	PA	1 • 02 72
May	DAYTO	1.0272 270 266 267 267 267 250	271	1.0267 35.9	1.0285 1.0274 1.0274 1.0256 1.0241	DAY	1.0190 082 		1.0270		1.0275
Apr.		1.0270 263 263 256 256 256	268	1.0263 35.4	1.0256 1.0272 1.0253 1.0253		1.0155 041		1.0269		1.0274
Mar.		1.0270  258 241 244	265	1.0261 35.1	1.0288 1.0269 1.0251 1.0251		1.0096		1.0267		1.0274
Feb.		1.0263 246 251 226 226 226	266	1.0256 34.5	1.0278 1.0263 1.0248 1.0213		1.0178		1.0266		I B B
Jan.		1.C256 251 254 240 258 258	257	1.0255 34.4	1.0274 1.0263 1.0245 1.0215		1.0179		1.0265		8 8 8
Year		1945 1946 1947 1948 1948	1950	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1946 1947 1948		1951		1946

	ຸ ດ229 255* 255* 255* 255*	244 252 221 221 2217* 234	<b>2</b> 34* 243*	•0217	•0233 255 257 257 257	238 246 206 214 214 256
	1.0274 1 275* 287* 280 278*	283 303 273 275* 272	278* 278*	1.0303	1.0279 1 284 280 283	279 274 282 285 285
	1. C265 	266 259 259 263 263	1.0265		1.0268 272 267 268	264 263 263 269 269 268 268 270
	1.0263 262 275 264	262 259 257 261 261	1.0262	1.0269 1.0267 1.0252 1.0252	1.0261 275 264 264 258	264 266 270 255 272
	1.0260 265 278 278 260 260 259	256 263 259 259 259 260	262 262 1.0261	1.0286 1.0269 1.0250 1.0250	1.0261 270 265 265	270 264 272 255 255
	1.0259 276 257 259	257 260 241 247 247	256 256 1.0257	1.0281 1.0267 1.0247 1.0221	1.0264 260 255 258	267 260 266 254 258
A.	1.0253 261 274 256 256	257 266 255 	266 257 1.0261	1.0269 1.0269 1.0259 1.0229	1.0264 265 256 256 270	266 263 270 275 275 269
ACH, FL	1.0269 269 279 265 265 265	265 274 256 256 271 271	262 259 1.0267	1.0273 1.0273 1.0259 1.0243 5T, FLA.	1.0261 273 261 274	265 269 272 275 275 275 272
AMI BE	1.0269 266 271 272 272 272 272	268 256 256 272 266	270 270 1.0268	1.0276 1.0276 1.0261 1.0261	1.0268 275 266 266 269	262 267 275 277 273 273
M	1.0267 271 269 271 272	274 278 262 268 268 267	274 272 1.0270 36.3	1.0303 1.0278 1.0262 1.0255	1.0268 276 275 272	253 269 269 272 272
	1.0270 267 267 272 272 272 272	276 277 262 266 266	274 272 1.0270 36.3	1.0290 1.0296 1.0263 1.0255	1.0272 278 271 277 277	271 264 274 273 273 273
	1.0270 264 269 272 272 272	274 264 265 265	269 268 1.0269 36.2	1.0285 1.0275 1.0263 1.0263	1.0275 276 272 274	266 264 274 272 272 273
	1.0268 272 271	270 265 265 265 265 265	269 268 1.0268	1.0283 1.0274 1.0260 1.0260	1.0274 274 268 268 271	266 259 271 273 269
	1.0269 270 268 268 263	267 265 265 265 265 265	264  1.0266	1.0282 1.0272 1.0261 1.0264	1.0270 271 273 268	257 259 266 271 268 271 268
	1.0267 263 266 270 261	266 262 262 262 262 262 262	252 265 1.0263 35.4	1.0283 1.0271 1.0255 1.0255	1.0272 270 275 261	258 257 248 270 262
	1940 1941 1942 1943 1944	1945 1946 1947 1947 1948	1950 1951 Mean Density Salinity	Max. Mean Max. Mean Min. Min.	1926 1927 1928 1929	1930 1931 1932 1932 1933

- Continued	
Water .	tremes
of Sea	and Ex
Density	Means
<b>Table 1.</b>	

Min.		• 0253 246 247 263 263 263 263	253* 253* 254 255 255	257 249 243	• 0206	.0129* 145 125
Max.		1.0289 1 279 289 285 289	286* 286* 286 285 285 285	281 280 283	1.0289	1.0227*1 214 243
Means		1.0272 267 272 275 275 273	272 272 272 272	271 269 270 1.0270 36.3		 1.0181 194
Dec.		1.0266 268 274 274 274 273	276 270 269 269 271	273 271 271 1.0269 36.2	1.0286 1.0274 1.0262 1.0262	1.0187 176
Nov.		1.0266 275 278 278 275 275	273 270 270 269 269	272 270 269 1.0269 36.2	1.0289 1.0275 1.0263 1.0263	 1.0184 167
Oct.		1.0263 270 267 267 267 267 261	270 272 263 263 263	263 266 268 268 1.0264	1.0284 1.0272 1.0252 1.0214	 1.0165 143
Sept.	nued	1.0264 268 269 269 273 269	264 272 274 269 266	269 269 271 1.0268 36.0	1.0280 1.0280 1.0260 1.0250	LA. 1.0141 167 145
Aug.	V Conti	1.0278 267 272 272 276 276 274	276 274 271 279 279	270 267 270 270 1.0271 36.4	1.0284 1.0277 1.0263 1.0233	1.0155 1.0155 177 204
July	ST, FL/	1.0277 268 274 274 274	280 270 269 278 273	273 271 267 267 36.6	1.0289 1.0289 1.0263 1.0233	<b>EIEKSE</b> 1.0187 205 233
June	КЕҮ WE	1.0284 264 278 278 274 272	280 269 274 280 277	277 270 270 270 270 270 36.6	1.0289 1.0280 1.0264 1.0264	51. P 1.0208 207 228
May		1.0282 275 269 277 277 278	278 275 277 277 272 281	275 271 273 273 1.0274 36.8	1.0286 1.0280 1.0266 1.0247	1,0204 194 222
Apr.		1.0274 268 272 277 277 274	269 277 278 270 270	270 268 277 1.0273 36.7	1.0287 1.0278 1.0266 1.0248	1.0197 179 215
Mar.		1.0275 258 270 275 275 277	270 275 274 268 268 277	272 268 271 1.0271 36.4	1.0285 1.0276 1.0266 1.0246	1.0209 172 207
Feb.		1.0271 261 270 276 276 274	268 272 261 273	271 287 264 264 1.0268 36.0	1.0280 1.0273 1.0262 1.0245	1.0216 158 197
Jan.		1.0270 265 271 270 272 272	267 277 268 272	270 273 270 270 270 36.0	1.0279 1.0272 1.0260 1.0206	1.0218 176 194
Year		1935 1936 1938 1938 1939	1940  1946 1947 1949	1950 1951 1952 1952 Mean Density Salinity	Max. Mean Max. Mean Min. Min.	1947 1948 1949

150 177 194*		• 0125		0155 137 102	* <b>36</b> 0	109*	138 106 119	092 099	066 102		• 0066	
234 225 222*		1.0243		1.0234 ] 233 231	23 <b>1</b> 217*	233*	237 236 235	220 226	251 235		1.0251	
198	1.0194 26.4			1.0203 199 137	198	3 8 0	199 191 190	176	193	1.0192 26.1		
191 205 199	1.0192 26.1	1.0210 1.0197 1.0186 1.0186		1.0207 218 215	198	181	186 215 175	204	190 181	1.0198 26.9	1.0233 1.0215 1.0178 1.0150	
185 201	1.0184 25.1	1.0206 1.0192 1.0176 1.0176		1.0201 200 206	207	193	205 220 181	200 185	<b>1</b> 83 191	1.0198 26.9	1.0230 1.0218 1.0173 1.0128	
173	1.0168 23.0	1.0197 1.0181 1.0156 1.0125		1.0206 184 196	211	180	190 196 181	192 170	172 196	1.0190 25.9	1.0225 1.0214 1.0154 1.0109	
168 203 	1.0165 22.6	1.0213 1.0180 1.0152 1.0152	A.	1.0191 195 205	219	213	181 198 186	184 156	144 188	1.0188 25.6	1.0231 1.0231 1.0157 1.0066	
201 211	1.0190 25.9	1.0229 1.0207 1.0169 1.0134	EYS, FL	1.0192 175 189	193	209	199 178 193	170 169	190 199	1.0188 25.6	1.0225 1.0210 1.0160 1.0120	(
218 221	1.0213 28.9	1.0243 1.0222 1.0222 1.0170	DAR KI	1.0198 192 177	202	200	214 198 199	199 205	193 201	1.0198 26.9	1.0231 1.0217 1.0175 1.0155	
223 222 218	1.0218 29.5	1.0243 1.0226 1.0198 1.0198	CE	1.0206 212 172	211 188	204	197 201 209	171 203	222 190	1.0199 27.1	1.0251 1.0213 1.0176 1.0139	
218 205 208	1.0208 28.2	1.0229 1.0216 1.0201 1.0201		1.0211 186 171	196 166	212	200 189 180	158 187	219 185	1.0189 25.8	1.0242 1.0215 1.0152 1.0111	•
210 200 200	1.0200 27.2	1.0219 1.0205 1.0194 1.0166		1.0213 212 160	179 151	8	224 153 184	150 168	182 170	1.0179 24.4	1.0236 1.0208 1.0144 1.0102	
204 196 209	1.0200 27.2	1.0217 1.0207 1.0192 1.0159		1.0208 208 160	166 152	8	207 177 180	134	<b>2</b> 08 207	1.0182 24.8	1.0235 1.0203 1.0144 1.0092	
199 189 211	1.0195 26.5	1.0220 1.0200 1.0188 1.0188		1.0214 203 188	184 160	8	192 184 186	188 186	209 205	1.0192 26.1	1.0229 1.0215 1.0153 1.0095	0
186 186 209	1.0195 26.5	1.0227 1.0202 1.0185 1.0156		1.0204 208 207	214 201	1	194 181 223	167	200	1.0197 26.8	1.0237 1.0216 1.0171 1.0113	
1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1922 1923 1924	1925 1926	1944	1945 1946 1947	1949	1950 1951	Mean Density Salinity	Max. Mean Max. Wean Min. Win.	TOT

ble
-----

Min.		0100.1	100	010	210	010	000	017	013	02.7	110	02.9	004	004	013	610	013*	600	019	003	002	0.9997	1.0047	7585.0	79997	0.9996	1.0018
Max.		1.0227	223	202	218	215	189	215	228	216	229	237	229	215	158	239	212*	220	217	212	213	230	211	136	217	206	214 ]
Means		1.0125	157	960	131	105	100	136	151	143	122	143	128	1.02	060	108	8 8	123	146	111	134	660	132	086	104	112	112
Dec.		1.0177	するて	129	154	165	075	127	170	146	188	153	47 5-	115	063	182	175	157	150	172	621	128	172	1.56	102	048	168
Nov.		•0196	130	130	22-1	176	101	117	135	171	201	151	191	127	107	142	175	175	188	181	163	176	175	160	150	144	102
Oct.		.0180	203	063	101	143	101	153	180	167	191	096	175	135	120	105	108	176	174	145	191	134	171	127	Til	171	179
Sept.		.0169 1	206	050	162	136	134	163	150	159	153	102	124	126	092	130	008	164	159	123	150	050	147	104	140	148	242
Aug.	A, FLA.	.0122 1	193	107	11.1	C97	0	161	وبيم م <del>ر</del> به تمر	149	160	121	102	240	102	013	000	093	111	083	124	092	105	031	150)	116	084
July	NSACOL	.0039 1	125	141	125	047	060	10.1	15.2	1997 1997	201 201 201	165	131	124	105	110	095	039	CIL	070	113	144	1.44	066	44 6-4 8-4	142	076
June	PE	. 0088 1	181	120	136	040	117	176	105	141	151	140	100	132	067	112	085	106	181	109	123	102	122	054	056	138	102
May		0104 1	175	100	147	052	094	150	135	1.42	057	150	020	107	035	087	8 3 8	109	174	093	118	032	088	057	062	125	CS1
Apr.		•0098 1	154	03.7	055	077	084	112	107	245	029	140	013	083	020	045	695	102	085	055	059	(0) 4	108	042	022	049	080
Mar.		. 0095 1	111	084	066	098	020	103	127	137	083	130	075	060	090	086	060	010	125	061	072	073	105	010	063	038	160
Feb.		0061 1	049	130	103	140	130	079	131	131	103	189	154	065	1 08	105	8	113	154	132	150	511	108	060	123	083	080
Jan.		1.0113 1	078	110	143	125	126	112	117	111	101	194	165	047	60I	104	9 †	182	121	106	150	131	134	030	036	132	674
Year		1924	1925	1926	1927	1928	1929	1930	1931	1932	1933	1934	1935	1936	1937	1938	1939	1940	1941	1342	1943	1944	1945	1946	1347	1946	1949

037* 027* 012		9666		•0121*	•0107*		.9984		• 6661*	• 9989 • 9992 • 99986 • 99887 • 99887
214* 229* 245		1.0245		1.0255*1	256*C 269 1 273*1		<b>1.</b> 0273 0		1.0221*0	1.0209 0 1.0221 0 1.0220 0 1.0227 0 1.0207 0 1.0216 0
156	1.0122 17.0			B I I	1.0190	1.0195 26.5			8	1.0014 1.0025 1.0024 1.0024 1.0027 1.0027
 184 199	1.0151 20.9	1.0239 1.0199 1.0091 0.9996		1.0238	221 214 257	1.0232 31.4	1.0270 1.0257 1.0155 1.0155		1.0034	1.0013 1.0013 1.0041 1.0007 1.0007
173	1.0165 22.6	1.0245 1.0205 1.0124 1.0032	A.	1.0232	239 241 259	1.0243 32.8	1.0273 1.0260 1.0199 1.0156		1.0073	1.0043 1.0064 1.0064 1.0052 1.0071 1.0071
187 210	1.0155 21.3	1.0230 1.0197 1.0113 1.0013	:. of), L	1.0208	190 219 247	1.0216 29.3	1.0266 1.0245 1.0189 1.0135		1.0062	1.0026 1.0054 1.0061 1.0072 1.0072
 166 182	1.0139 19.2	1.0225 1.0179 1.0097 1.0014	miles St	1.0203	199 200 228	1.0208 28.2	1.0254 1.0229 1.0134 1.0170	Α.	1.0079	1.0045 1.0085 1.0033 1.0064 1.0064
125 167 174	1.0113 15.8	1.0219 1.0169 1.0068 0.9997	form 8	1.0204	158 187 229	1.0194 26.4	1.0257 1.0234 1.0151 1.0113	LAND, I	1.0055	1.0012 1.0027 1.0041 1.0034 1.0006
148 137 171	1.0121 16.9	1.0215 1.0171 1.0071 1.0071	ling Plat	1.0185	156 204	1.0182 24.8	1.0245 1.0219 1.0112 1.0021	SENE IS	1.0010	0.9997 1.0004 1.0005 1.0013 1.0013
148 144 132	1.0120 16.7	1.0214 1.0171 1.0074 1.0013	LE (Drill	1.0178	191	1.0184 25.1	1.0227 1.0222 1.0146 1.0133	EUG	0,9998	1.0003 1.0006 1.0006 1.0019 1.0011
098 130 100	1.0102 14.4	1.0222 1.0161 1.0056 1.0005	AND IS	1.0170	163	1.0166 22.7	1.0246 1.0233 1.0109 1.0097		1.0001	0.9997 1.0007 1.0000 1.0003 1.0014
087 081 068	1.0076	1.0216 1.0135 1.0036 0.9997	GR	8	1.0187	1.0190 25.9	1.0260 1.0253 1.0112 1.0099		1.0040	0.9997 1.0001 1.0016 1.0016 0.9998
140 144 109	1.0090 12.8	1.0237 1.0158 1.0034 0.9997		-	1.0151	1.0175 23.9	1.0269 1.0250 1.0083 1.0012		-	1.0002 0.9998 1.0026 1.0009 1.0009
167	1.0116 16.2	1.0231 1.0169 1.0063 1.0006		8	1.0119 175 207	1.0167 22.9	1.0270 1.0243 1.0034 0.9984		8	1.0022 0.9998 1.0000 1.0006 0.9997
162	1.0121 16.9	1.0220 1.0181 1.0052 1.0052		1	1.0164 196 180	1.0180 24.6	1.0257 1.0241 1.0104 1.0081		1	1.0008 1.0039 1.0001 1.0013 1.0003
1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1944	1945 1946 1947 1948 1948

Min.		).9973 ).9986 ).9977*		. 9973		• 0020 013 022	059* 020* 041* 036*	040* 051 011 061 028
Max.		1.0207 ( 1.0159 ( 1.0185*(		1.0221		1.0259*1 249 250	270* 231* 245* 250 239*	256 299 242 263 263
Means		1.0010 1.0009	1.0021 3.3			1.0156	171	197 172 176 134
Dec.		1.0009 1.0017 1.0047	1.0030 5.0	1.0208 1.0143 0.9992 0.9977		1.0197 124 193	169 161 153 163	155 193 213 210 187
Nov.		1.0030	1.0046 7.1	1.0211 1.0173 0.9996 0.9990		1.0192 171 185	130 169 178 178	211 206 194 212
Oct.		1 • 0025 1 • 0042 1 • 0064	1.0054 8.1	1.0216 1.0167 1.0000 0.9986		1.0192 175 192	182 147 168	187 213 197 177 218
Sept.	ntinued	1.0007 1.0021	7.9	L.0220 L.0151 D.9996 D.9985		1.0204 191 221	244  195' 171 170	234 237 212 188 222
Aug.	LA Co	1.0008 1.0015 1.0031	1 • 0025 4 • 3	1.0221 1.0122 0.9998 0.9991	N, TEX	1.0226 224 229	256 209 201 201 191	243 235 234 176 241
July	SLAND,	1.0002 1.0001	2.0	1.0186 1.0072 0.9995 0.9992	LVESTO	1.0177 143 186	228 172 158 192 121	230 230 222 196 226
June	GENE I	0.99999 1.0001	1.0005	1.0138 1.0059 0.9996 0.9992	GA	1.0074 134 095	191 137 182 085	130 227 175 156 208
May	EU	0,9999 0,9998 1,0002	1.0002	1.0139 1.0053 0.9993 0.9989		1.0138	203 066 115 171 171	154 188 149 153 163
Apr.		0.9996 0.9996 1.0000	2.0	1.0220 1.0074 0.9992 0.9986		1.0063	199 064 193 159 110	202 180 171 165 096
Mar.		0.5399 1.0002 1.0006	1,0006	1.0188 1.0089 0.9992 0.9985		1.0171 154 : 110	204 123 156 129	162 174 099 143 132
Feb.		1.0007 0.9996 1.0004	1.0004	L.0202 L.0072 0.9989 0.9973		1.0171 ] 146 146	218 151 117 151 125	136 065 167 127
Jan.		1.0002 1.0002 1.0011	1.0014 2.9	1.0221 1.0108 0.9993 0.9990		1.0196 207 090	200 148 162 155	141 125 181 177
Year		1950 1951 1952 Mean	Density Salinity	Max. Mean Max. Mean Min. Min.		1922 1923 1924	1925 1926 1927 1928 1928	1930 1931 1932 1932 1933

* 022* 037 011 031 069	015 038 021 * 052* 034	020 020 045 077 055 055 051	099 1.001	*1.0107* 129	* 144* 214* 171
248 <sup>,</sup> 278 256 251 251 251	246 259 251 251 251 264	245 260 260 260 260 260 260 260 260 260 260	265 1.0299	1.0305* 252	301* 315* 298
192 177 204	190 137 156 172	134 136 166 166 159 159 149	193 1.0171 23.4	1.0101	230
131 201 193 209 209 216	048 154 181 173 163	152 171 171 210 200 201 200	202 1.0173 23.7 23.7 1.0238 1.0212 1.00159 1.00159	1.0224 164	223
164 184 209 210 216	178 114 179 181 200	166 081 199 213 155 155 187	206 1.0182 24.8 24.8 1.0247 1.0216 1.0135 1.00205 1.00205	1.0221 178	261 232 187
166 191 208 212 223	208 133 169 191	128 160 203 203 200 116 116 116	202 1.0182 24.8 1.0253 1.0251 1.0147 1.0060	1.0210 175	251 238 185
189 202 221 185 243 243	205 205 152 216 216	126 181 181 191 208 208	212 1.0199 27.1 1.0295 1.0235 1.0058	1.0217 226	260 269 243
206 244 225 225 234	219 206 195 	182 231 244 191 191 242 242	220 1.0219 29.7 1.0299 1.0299 1.0094	<b>RT, TEX</b> 1.0283 210	288 299 279
140 179 230 220 189	190 124 119 210	156 149 188 215 188 188 188 175 225	176 1.0185 25.2 1.0260 1.0259 1.0038	0CKP0F 1.0259 196	292
079 152 205 167 179	187 099 119 169 116	152 075 148 196 170 170 2255	183 1.0151 20.8 1.0253 1.0026 1.0020 1.0020	R( 1.0230 184	209 258
084 168 193 104 104	202 125 078 192 111	123 154 154 154 132 132 132	180 1.0144 19.9 1.0264 1.0200 1.0083 1.0021	1.0193 150	192 254 247
184 200 151 134 182	210 146 150 179 168	068 155 151 151 145 128 140 128 128	152 1.0152 20.9 20.9 1.0248 1.0086 1.0086	1.0187 182	182 250 236
185 135 150 202	219 122 191 192 149	114 102 157 134 111 113 113	192 1.0152 20.9 1.0282 1.0085 1.0011	1.0161 194	170 242 228
148 175 149 152 186	217 119 182 191 135	127 132 142 167 170 104	196 1.0153 21.0 21.0 1.0235 1.0024 1.0015	1.0159 210	168 242 231
179 171 163 151 196	200 101 159 162 155	114 132 132 172 191 191	195 1.0160 22.0 22.0 1.0244 1.0211 1.0099 1.0022	1.0225	158 252 224
1935 1936 1937 1938 1938	1940 1941 1942 1943 1944	1945 1946 1947 1948 1949 1950	1952 Mean Density Salinity Max. Mean Max. Mean Min.	1948	1950 1951 1952

Min.			•0107		• 0040*	092 176 195	195*	145 184 238		•0040
Max.			1.0315		1.0290*1	300 297 293	301+ 279+	310 291 295		1.0310
Means		1.0220 29.8			8	1.0256 248 251		255 264 271	1.0254 34.2	
Dec.		1.0196 26.S	1.0242 1.0214 1.0182 1.0182 1.0129		1.0252	273 234 244	254	272 261 266	1.0257 34.6	1.0300 1.0273 1.0243 1.0243
Nov.		1.0216 29.3	1.0272 1.0236 1.0202 1.0202 1.0165		1.0248	267 238 270	248	275 264 277	1.0261 35.1	1.0310 1.0280 1.0245 1.0221
Oct.		1.0212 28.8	1.0271 1.0233 1.0197 1.0153		1.0215	216 216 253	229	244 254 267	1.0237 32.0	1.0286 1.0268 1.0190 1.0092
Sept.	ıtinued	1.0243 32.8	1.0315 1.0287 1.0192 1.0197	×.	1.0119	274 272 263	273	271 260 275	1.0251 33.8	1.0299 1.0287 1.0200 1.0040
Aug.	X Cor	1.0272 36.6	1.0312 1.0293 1.0255 1.0255 1.0186	BEL, TE	1.0266	284 284 248	283 272	279 279 283	1.0275 37.0	1.0301 1.0288 1.0288 1.0289
July	DRT, TE	1.0253 34.1	1.0303 1.0274 1.0271 1.0221	RT ISAE	1.0276	284 278 282	274 268	275 281 282	1.0278 37.3	1.0293 1.0287 1.0264 1.0264
June	ROCKPC	1.0220 29.8	1.0272 1.0251 1.0193 1.0143	РО	1.0247	271 239 256	272 266	220 262 280	1.0257 34.6	1.0289 1.0277 1.0220 1.0145
May		1.0207 28.1	1.0276 1.0226 1.0193 1.0139		1.0246	240 247 247	241	267 262 276	1.0253 34.1	1.0286 1.0270 1.0226 1.0179
Apr.		1.0207 28.1	1.0265 1.0229 1.0191 1.0147		1.0254	248 257 245	229	246 264 266	1.0251 33.8	1.0275 1.0265 1.0234 1.0196
Mar.		1.0199 27.1	1.0251 1.0216 1.0182 1.0145		8	1.0245 233 237	233	233 250 262	1.0242 32.7	1.0271 1.025⊈ 1.0230 1.0216
Feb.		1.0202 27.5	1.0271 1.0226 1.0191 1.0138		8	1.0230 239 236	235	241 258 263	1.0243 32.8	1.0274 1.0255 1.0216 1.0216
Jan.		1.0215 29.1	1.0265 1.0228 1.0228 1.0204		8	1.0244 243 234	252	242 267 254	1.0248 33.5	1.0278 1.0262 1.0251 1.0210
Year		Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1944	1945 1946 1946	1948	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

	0033*0.9995* 252 0.9989 264 0.9991 273 0.9992	269 0.5993 268 0.9991 263 0.9989	·	0273 0.9989		0288*1.0268* 294 260 288 264 289 261 289 261	290* 267* 285* 265* 290 248		0294 1.0248
		035 045 028	2	н		75 75	73	-1	л. -
	1.00		1.00			1.02		1.02	
	1.0004 011 013 013 048	029 009 014	1.0018 3.4	1.0194 1.0072 0.9996 0.9992		1.0271 272 270 270 272	271 268	1 • 0271 36 • 4	1.0280 1.0277 1.0263 1.0263
	1.0007 012 006 014	014 0.9999 1.0005	1.0008 2.1	1.0076 1.0035 0.9995 0.9992		1.0276 274 270 270 270	283 272 262	1.0272 36.6	1.0290 1.0279 1.0266 1.0266
EXICO	1.0008 0.9998 0.9998 1.0004	0°9998 0°9996 0°9995	1.0000	1.0029 1.0009 0.9992 0.9989		1.0277 270 274 274 270	279 270 261	1.0272 36.6	1.0286 1.0276 1.0266 1.0266
kico), MI	1.0011 0.9996 1.0027 009	003 0.9996 0.9994	1.0005	1.0055 1.0018 0.9997 0.9989	0	1.0277 273 274 274 276	275 267 268	1.0273 36.7	1.0280 1.0277 1.0268 1.0265
erto Me:	1.0017 006 025 081	000 006 0_9994	1.0018 3.4	1.0174 1.0049 1.0000 0.9990	, MEXI	1.C280 275 273 273 281	279 269 268	1.0275 37.0	1.0288 1.0279 1.0271 1.0266
cos (Pu	1.0018 001 094	005 012 0.9995	1.0021 3.8	1.0200 1.0066 1.0002 0.9991	OGRESC	1.0283 274 279	276 274 269	1.0276 37.1	1.0287 1.0280 1.0272 1.0272
ACOAL	1.0070 099 150	074 110 004	1.0084 12.0	1.0268 1.0213 1.0213 0.9994	PRO	1.0285 276 279	275 278 271	1.0277 37.2	1.0289 1.0282 1.0282 1.0273 1.0267
COATZ	1.0065 119 163	143 142 067	1.0116 16.2	1.0265 1.0229 1.0054 1.0015		1.0286 282 284	278 276 282	1.0282 37.9	1.0294 1.0286 1.0277 1.0277
	1.0070 092 135	070 104 094	1,0094 13,3	1.0273 1.0237 1.0034 1.0014		1.0289 282 282	280 285	1.0284 38.1	1.0293 1.0288 1.0288 1.0273 1.0273
	1.0039 037 052	048 100 099	1.0062 9.2	1.0237 1.0170 1.0021 1.0006		1.0283 279 266	279 281 282	1.0278 37.3	1.0291 1.0283 1.0274 1.0263
	1.0018 013 037	028 028 060	1.0031	1.0168 1.0087 1.0007 1.0007		1.0275 275 268	<b>2</b> 77  279	1.0275 37.0	1.0263 1.0279 1.0279 1.0270 1.0263
	1.0009 009 014	006 035 020	1.0016 3.2	1.0109 1.0064 0.9996 0.9991		1.0272 270 269	277	1.0274 36.8	1.0286 1.0278 1.0278 1.0269
	1946 1947 1948 1949	1950 1951 1952 Mean	Density Salinity	Max. Mean Max. Mean Min. Min.		1946 1946 1948 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

Min.		•0142*	134 216* 050*		• 0050		.0224*	222* 225* 174*		.0220* 112	088 136* 125*
Max.		1.0264*1	271 272* 264*		1.0272 1		1.0266*1	269* 270* 275*		1.0275*1 275	271 273* 273*
Means		1 3 9	1.0224	1.0223 30.2			8			1.0249	238
Dec.		1.0228	209	1.0205 27.8	1.0261 1.0251 1.0128 1.0066		1.0246	238		1.0253 201	208
Nov.		1.0219	154  185	1.0100 27.1	1.0264 1.0245 1.0124 1.0092		1.0244	229		1.0239 221	229
Oct.		1.0222	174	1.0177 24.2	1.0253 1.0230 1.0115 1.0050		1.0256	249 248 243		1.0258 261	<b>255</b>  249
Sept.	DURAS	8	1.0204	1.0192 26.1	1.0235 1.0232 1.0139 1.0139	RAGUA	8 8 8	1.0251 246 250	RICA	1.0259	258  261
Aug.	S, HON	8	1.0196	1.019⊈ 26.4	1.0264 1.0254 1.0138 1.0138	S, NICA	8	  1.0214	COST		236 255 262
July	CORTÉ	6 8 8	1.0220 204	1.0212 28.8	1.0262 1.0260 1.0119 1.0104	CABEZA	1 8 1		LIMÓN	1.0253	220
June	UERTO	8 8 8	1.0240  235	1.0238 32.1	1.0267 1.0264 1.0142 1.0128	JERTO	8 8 9		UERTO	1.0246	244 250 267
May		8 8 8	1.0264 246 246	1.0256 34.5	1.0270 1.0267 1.0267 1.0240 1.0227	P	8 2 8	1.0261 264 265	ē.	1.0250	205 257
Apr.		1	1.0257 258 253	1.0256 34.5	1.0271 1.0267 1.0225 1.0216		8 8 8	1.0262 263 266		1.0264	262
Mar.		8 8 6	1.0254 257	1.0256 34.5	1.027C 1.0267 1.0240 1.0236		8	1.0256		1.0266	255 245 
Feb.		1) 1) 1)	1.0235 253 	1.0244 32.9	1.0272 1.0266 1.0212 1.0200		8	1.0249 244 		1.0264	237 240
Jan.		8 8 8	1.0236 249	1.0242 32.7	1.0269 1.0267 1.0195 1.0172		8	1.0243		1.0249	255
Year		1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1949	1950 1951 1952		1948 1949	1950 1951 1952

	.•0275 1.0088		.0245*1.0131*	246* 153* 234* 167* 253* 173*		0253 1.0131		.•0269*1.0185* 303 225 279 190	272 137 283 156 284 154
1.0246 33.2			6 3 8		1.0212 28.6		<u></u>	1.0259 258	254 254 257
1.0219	1.0275 1.0260 1.0146 1.0088		1.0187	202	1.0196 26.7	1.0229 1.0222 1.0158 1.0135		1.0254 257 258	256 260 253
1.0234 31.6	1.0273 1.0263 1.0150 1.0112		1.0190	192 208 210	1.0200 27.2	1.0237 1.0232 1.0158 1.0151		1.0252 255 257	249 261 252
1.0256 34.5	1.0271 1.0270 1.0195 1.0195		1.0223	237	1.0231 31.2	1.0251 1.0245 1.0200 1.0200 1.0180		1.0233 272 253	229 245 226
1.0259 34.9	1.0275 1.0272 1.0249 1.0249	ZONE	1.0216	230	1.0223 30.2	1.0253 1.0249 1.0195 1.0186		1.0243 262 258	242 254 257
1.0252 34.0	1.0273 1.0266 1.0209 1.0209	CANAL	1.0206	201 204 210	1.0205 27.8	1.0241 1.0230 1.0177 1.0177 1.0159	, CUBA	1.0260 258 256	250 246 256
1.0236 31.9	1.0268 1.0262 1.0172 1.0123	OBAL, (	5 8 8	1.0200	1.0208 28.2	1.0236 1.0234 1.0178 1.0178	HABANA	1.0252 261 255	261 242 264
1.0252 34.0	1.0273 1.0267 1.0266 1.0216 1.0181	CRIST	8	1.0226 214 230	1.0223 30.2	1.0248 1.0241 1.0200 1.0200 1.0196	reiten	1.0255 261 252	262 262 262
1.0237 32.0	1.0274 1.0272 1.0172 1.0172 1.0090		2 5 9	1.0211 212 	1.0212 28.8	1.0231 1.0238 1.0184 1.0189		1.0257 254 264	258 261 250
1.0262 35.3	1.0274 1.0272 1.0215 1.0204		8 8 8	1.0207 212 217	1.0212 28.8	1.0238 1.0236 1.0189 1.0180		1.0255 255 258	260 250 268
1。0255 34.4	1.0274 1.0268 1.0207 1.0207		1 1 1 1 1 1	1.0203 209 224	1.0212 28.8	1.0240 1.0226 1.0191 1.0174		1.0254 260 262	261 260 265
1.0247 33.3	1.0272 1.0267 1.0172 1.0172 1.0102		8	1.0204 212 223	1.0213 28.9	1.0233 1.0222 1.0200 1.0191		1.0258 263	260 256 260
1.0242 32.7	1.0270 1.0262 1.0158 1.0122		8 8 9	1.0212	1.0213 28.9	1.0229 1.0229 1.0196 1.0195		1.0250	264 255 267
Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1947 1948 1949	1950 1951 1952

Min.			1.0137		1.0037*	0.9993* 1.0154* 011*		1.0203* 112 205	233 252 245		1.0112
Max.			1.0303		1.0282*	273* 273* 293*		1 • 0280* 282 233	285 291 291		1.0291
Means		1.0256 34.5			8			1.0265 271	270 275 277	1.0272 36.6	
Dec.		1.0256 34.5	1.0272 1.0270 1.0233 1.0187		1.0235	248 254 250		1.0270 266 266	264 274 277	1.0270 36.3	1.0280 1.0280 1.0276 1.0263
Nov.		1.0254 34.2	1.0281 1.0269 1.0269 1.0222		1,0229	202 231 234		1.0271 265 268	250 275 276	1.0268 36.0	1.0282 1.0282 1.0276 1.0258 1.0236
Oct.		1,0243 32.8	1.0303 1.0269 1.0187 1.0140		8	1.0236 251 245		1.0262 260 255	258 274 278	1.0264 35.5	1.0285 1.0285 1.0276 1.0244 1.0205
Sept.	inued	1.0253 34.1	1.0287 1.0270 1.0270 1.0210 1.0137		3 3 1	1.0243  261	CUBA	1.0260 266 274	269 277 274	1.0270 36.3	1.0268 1.0280 1.0280 1.0262
Aug.	A - Cont	1.0254 34.2	1.0277 1.0270 1.0214 1.0163	, CUBA	8 1 8	1.0262 266	O BAY,	1.0273 274 277	277 277 278	1.0276 37.1	1.0285 1.0282 1.0270 1.0268
July	A, CUB,	1.0256 34.5	1.0283 1.0273 1.0273 1.0223 1.0168	SIBARA	8 8 8	1.0264  249	TÁNAMO	1.0269 271 274	277 278 275	1.0274 36.8	1.0283 1.0283 1.0266 1.0266
June	HABAN	1.0259 34.9	1.0281 1.0272 1.0240 1.0226	Ŭ	8	1.0260	GUAN <sup>-</sup>	1.0268 219 272	279 274 271	1.0264 35.5	1.0283 1.0276 1.0242 1.0112
May		1.0257 34.6	1.0276 1.0271 1.0219 1.0154		3 8 8	8 8 8 0 8 8 8 8 8		1.0270 270 275	278 273 276	1.0274 36.8	1.0291 1.0283 1.0283 1.0261
Apr.		1.0258 34.8	1.0284 1.0270 1.0227 1.0175		1.0275	8 8 8 5 8 6 6 8 8		1.0277 274	276 281 280	1.0278 37.3	1.0291 1.0284 1.0286 1.0266
Mar.		1.0260 35.0	1.0279 1.0273 1.0240 1.0228		8	1.0262		1.0274 274	275 276 281	1.0276 37.1	1.0286 1.0280 1.0280 1.0271
Feb.		1.0259 34.9	1.0278 1.0272 1.0236 1.0236		8 8 8	1.0251 259 		 1.0272 269	273 273 280	1.0273 36.7	1.0284 1.0279 1.0279 1.0269
Jan.		1.0259	1.0278 1.0273 1.0238 1.0212		8 8	1.0236 259 260		1.0271 270	269 269 276	1.0271 36.4	1.0282 1.0277 1.0265 1.0261
Year		Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1949	1950 1951 1952		1947 1948 1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

	• 02 42*	243* 107* 173*		•0107		•0261*	257* 262 237		•0237		• 0080*	125 021 020	
	1.0290*1	301* 299* 287*		1.0301 1		1.0274*1	275* 275 276		1.0276 1		1.0268*1	273 266 247	
	8		1.0278 37.3			8	1.0268 270	1.0269 36.2			8 5 3	1.0244 152 159	
	1.0286	279	1.0281 37.7	1.0289 1.0287 1.0275 1.0275		1.0264	265 268 270	1.0267 35.9	1.0273 1.0269 1.0265 1.0265		1.0253	252 135 210	
	1.0280	263  265	1.0269 36.2	1.0290 1.0278 1.0256 1.0253		1.0264	265 266 269	1.0266 35.8	1.0272 1.0270 1.0262 1.0267		1.0237	245 149 176	
	1.0268	216 259	1.0248 33.5	1.0295 1.0283 1.0179 1.0107		1.0268	270 268 270	1.0269 36.2	1.0273 1.0272 1.0264 1.0264	UBLIC	1.0213	227 140 118	
	1.0259	282 265	1.0269 36.2	1.0288 1.0276 1.0257 1.0242	AITI	1.0269	270 269 268	1.0269 36.2	1.0274 1.0273 1.0258 1.0258	AN REB	1,0203	237 118 119	
, CUBA	1.0273	291 287 266	1.0279 37.5	1.0295 1.0285 1.0268 1.0268	INCE, H	3 2 9	1.0270 268 270	1.0269 36.2	1.0274 1.0272 1.0266 1.0265	DMINIC/	1.0233	243 126 143	
ASILDA	1.0272	290 284 268	1.0278 37.3	1.0296 1.0287 1.0272 1.0260	-AU-PRI	1.0270	271 271 271	1.0271 36.4	1.0276 1.0274 1.0268 1.0268	-LO, DC	1.0241	247 087 086	
0	3 1 8	1.0293 290 278	1.0287 38.5	1.03C1 1.0294 1.0275 1.0275	PORT-	1.0271	272 270 271	1.0271 36.4	1.0275 1.0274 1.0267 1.0267	TRUJII	1.0249	242 099 142	
	1.0283	291 288 281	1.0286 38.4	1.0298 1.0292 1.0279 1.0275		1.0270	271 268 268	1.0269 36.2	1.0273 1.0272 1.0266 1.0264		1.0240	239 090 135	
	8 8 9	1.0285 287	1.0286 38.4	1.0294 1.0292 1.0276 1.0275		8	1.0269 269	1.0269 36.2	1.0274 1.0274 1.0267 1.0267	0	1.0258	247 197 151	
	8	1.0285 286	1.0286 38.4	1.0292 1.0292 1.0282 1.0282		8 8	1.0269 269 270	1.0269 36.2	1.0276 1.0272 1.0267 1.0266		11 8 8	1.0253 209 215	
	8	1.0284 285 	1.0284 38.1	1.0299 1.0294 1.0280 1.0277		8 8	1.0268 269 271	1.0269 36.2	1.0274 1.0272 1.0267 1.0265		8	1.0246 220 208	
	8	1.0284 282	1.0283 38.0	1.0268 1.0288 1.0272 1.0264		8	1.0266 267 269	1.0267 35.9	1.0272 1.0270 1.0266 1.0265		40 M	1.0256 256 201	
	1949	1950 1951 1952				1949	1950 1951 1952				1949	1950 1951 1952	

Ain.			020		02.52*	222 219 234*		9130		2231 245 173
Max. I			1.0273		1.0280*1.	274 274 273*		1.0280 1.		1.0270 1.( 281 288
Means		1.0197 26.8			8	1.0264 266 	1.0266 35.8			1.0259 266 264
Dec.		1.0212 28.8	1.0262 1.0245 1.0153 1.0034		1.0266	253 260 262	1.0260 35.0	1.0272 1.0269 1.0269 1.0240		1.0262 267 264
Nov.	nued	1.0202 27.5	1.0270 1.0249 1.0111 1.0054		1.0270	266 265 267	1.0267 35.9	1.0274 1.0272 1.0246 1.0246		1.0260 267 262
Oct.	C - Conti	1.0174 23.8	1.0257 1.0229 1.0077 1.0030	BLIC	1.0270	269 271 270	1.0270 36.3	1.0274 1.0273 1.0266 1.0266		1.0258 265 256
Sept.	PUBLIC	1.0169 23.1	1.0257 1.0225 1.0087 1.0020	N REPU	1.0270	269 270 269	1.0270 36.3	1.0280 1.0275 1.0265 1.0265	B.W.I.	1.0247 259 249
Aug.	CAN RE	1.0186 25.4	1.0273 1.0244 1.0102 1.0035	AINICAL	1.0273	269 269 270	1.0270 36.3	1.0276 1.0273 1.0264 1.0264	ix Fort),	1.0247 261 261
July	INIMOC	1.0165 22.6	1.0269 1.0220 1.0100 1.0025	ra, don	1.0272	268 268 269	1.0269 36.2	1.0276 1.0273 1.0265 1.0262	IA (Vieu	1.0251 268 256
June	1110° 1	1.0185 25.0	1.0266 1.0230 1.0113 1.0030	TO PLAT	1.0271	267 266 268	1.0268 36.0	1.0280 1.0273 1.0260 1.0252	T. LUC	1.0259 266 263
May	D TRU.	1.0176 24.1	1.0268 1.0248 1.0109 1.0021	PUERI	1.0271	267 260	1.0266 35.8	1.0274 1.0271 1.0248 1.0248	03	1.0265 271 266
Apr.	CIUDA	1.0213 28.9	1.0266 1.0252 1.0156 1.0038		8 3 8	1.0266 266 	1.0266 35.8	1.0273 1.0271 1.0256 1.0254		1.0264 269 273
Mar.		1.0226 30.6	1.0266 1.0254 1.0162 1.0161		10 00 00	1.0261 263 	1.0264 35.5	1.0271 1.0269 1.0258 1.0258		1.0261 266 269
Feb.		1.0225 30.4	1.0264 1.0258 1.0154 1.0134		16 12 16	1.0250 263	1.0256 34.5	1.0268 1.0266 1.0244 1.0232		1.0264 268 269
Jan.		1.0238 32.1	1.0266 1.0255 1.0212 1.0130		8 8	1.0260 260 262	1.0261 35.1	1.0269 1.0269 1.0241		1.0265 267 275
Year		Mean Density Salinity	Max. Mean Max. Wean Min. Min.		1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1950 1951 1952

	288 1•0173		231* 278* 247* 262*1_0089*		275 1.0089		278 203	274* 200* 271* 196* 277 171		278 1,0171
	1.0		г. -		1.0		) 		1911	1.0
1.0263 35.4			0 5 5 0 8 4 8 5 9 8 8 0	1.0203 27.6			1.0255	238	1.0246 33.2	
1.0264 35.5	1.0278 1.0275 1.0257 1.0257		1.0188 206	1.0197 26.8	1.0231 1.0224 1.0176 1.0161	0066	261	227 253 241	1.0247	1.0276 1.0265 1.0225 1.0225
1.0263 35.4	1.0272 1.0270 1.0252 1.0252		1.0187 203 183 	1.0191 26.0	1.0220 1.0210 1.0171 1.0155		1 • 0660	213	1.0226 30.6	1.0259 1.0243 1.0213 1.0204
1.0260 35.0	1.0274 1.0269 1.0239 1.0239	l.	1.0169 161 190	1.0172 23.5	1.0214 1.0201 1.0142 1.0132		221	208 209 209	1.0218 29.5	1.0246 1.0233 1.0208 1.0198
1.0252 34.0	1.0264 1.0261 1.0221 1.0273	(), B.W.	1.0156 161 130 164	1.0153 21.0	1.0200 1.0187 1.0119 1.0098	IBIA	1.0236	220  210	1.0222 30.1	1.0258 1.0240 1.0200 1.0171
1.0256 34.5	1.0272 1.0264 1.0244 1.0231	lage Bay	1.0159 131 146 153	1.0142 19.6	1.0185 1.0172 1.0102 1.0089	COLON	1.0253	247  214	1.0238 32.1	1.0268 1.02555 1.0208 1.0182
1.0258 34.8	1.0281 1.0267 1.0248 1.0248	) (Carer	19187 167 167	1.0180 24.6	1.0217 1.0199 1.0162 1.0162	AGENA,	1.0250	234  226	1.0237	1.0261 1.0254 1.0223 1.0205
1.0263 35.4	1.0274 1.0271 1.0252 1.0256	RINIDAE	1.0208 224 224	1.0214 29.0	1.0246 1.0239 1.0192 1.0180	CART/	1.0255	235 235 218	1.0236 31.9	1.0266 1.0252 1.0216 1.0196
1.0267 35.9	1.0277 1.0274 1.0261 1.0255	TF	1.0254 252	1.0253 34.1	1.0264 1.0262 1.0234 1.0239		1.0269	240 249	1.0253 34.1	1.0278 1.0274 1.0230 1.0214
1.0269 36.2	1.0279 1.0273 1.0262 1.0262		1.0253	1 • 0255 34 • 4	1.0278 1.0270 1.0244 1.0244		1.0274	265 270	1.0270 36.3	1.0277 1.0275 1.0261 1.0255
1.0265 35.7	1.0281 1.0272 1.0256 1.0252		1.0232 250 250	1.0237 32.0	1.0254 1.0245 1.0224 1.0224		1.0272	266	1,0269 36,2	1.0275 1.0273 1.0266 1.0262
1.0267 35.9	1.0272 1.0272 1.0261 1.0261		240	1.0221	1.0248 1.0234 1.0231 1.0211		1.0270	270  263	1.0268 36.0	1.0274 1.0272 1.0261 1.0252
1.0269 36.2	1.0288 1.0276 1.0264 1.0261		1.0217 233 223	1.0224 30.3	1.0247 1.0238 1.0208 1.0196		1.0267	264	1.0262	1.0272 1.0271 1.0253 1.0258
Mean Density Salinity	Max. Mean Max. Mean Min. Min.	0	1949 1950 1951	Mean Density Salinity	Max. Mean Max. Mean Min. Min.	8001	1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

- Continued	
Water	tremes
of Sea	and Ex
Density	Means
Table 1.	

Min.		1.0262*	256 225 229		1.0225		1.0123*	139 148* 249		1.0123
Max.		1.0285*	289 293 287		1.0293		1.0279*	284 280* 287		1.0287
Means		5 5 8	1.0274 271 272	1.0272			1	1.0232 	1.0249 33.6	
Dec.		1.0269	266 272 273	1.0270 36.3	1.0278 1.0276 1.0264 1.0266		1.0212	217 260 262	1.0238 32.1	1.0274 1.0263 1.0207 1.0123
Nov.		1.0269	272 268 268	1.0269 36.2	1.0281 1.0278 1.0254 1.0254 1.0229		1.0258	264 261 264	1.0262 35.3	1.0276 1.0270 1.0247 1.0247 1.0225
Oct.		1.0272	276 272 270	1.0272 36.6	1.0287 1.0280 1.0262 1.0265		1,0265	262 264 268	1.0265	1.0284 1.0276 1.0249 1.0233
Sept.	JELA	1.0275	273 270 269	1.0272 36.6	1.0285 1.0280 1.0280 1.0264 1.0261	JELA	1) 5 19	1.0257 263 271	1.0264 35.5	1.0281 1.0272 1.0252 1.0255
Aug.	VENEZI	8	1.0275 270 274	1.0273 36.7	1.0284 1.0279 1.0266 1.0265	VENEZI	1 1: 1:	1.0248 262 268	1.0259 34.9	1.0280 1.0275 1.0244 1.0244
July	JAIRA,	8	1.0275 273 270	1.0273 36.7	1.0281 1.0284 1.0264 1.0260	NERO,	ግ ይ ጀ	1.0214 254 270	1.0248 33.2	1.0278 1.0267 1.0211 1.0139
June	LA GI	3 2 8	1.0272 272 274	1.0275 36.7	1.0280 1.0289 1.0265 1.0265	CARE	8	1.0222 260 271	1.0251 33.8	1.0278 1.0272 1.0213 1.0161
May		8 8 2	1.0273 272 273	1.0273 36.7	1.0287 1.0282 1.0282 1.0264 1.0262		8 3 8	1.0255 268 260	1.0261	1.0274 1.0273 1.0248 1.0248 1.0232
Apr.		8 3 9	1.0278 272 273	1.0274 36.8	1.0289 1.0282 1.0266 1.0266		7 8 8	1,0248 266 279	1.0264 35.5	1.0287 1.0277 1.0243 1.0243
Mar.		8	1.0277 270 272	1.0273 36.7	1.0283 1.0278 1.0268 1.0268		1 0 1	1.0137 223 265	1.0225	1.0281 1.0266 1.0139 1.0144
Feb.		8 5 8	1.0276 273 271	1.0273 36.7	1.0293 1.0284 1.0255 1.0255		3 8 8	1.0210 196 256	1.0221 29.9	1.0275 1.0268 1.0187 1.0148
Jan.		8 6 7	1.0274 273 275	1.0274 36.8	1.0281 1.0280 1.0267 1.0267		9 E 3	1.0200	1.0230	1.0264 1.0262 1.0198 1.0198
Year		1949	1950 1951 1951	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

	•0188*	169 152 176		.0152		•0230*	255 237 260		• 0230		9995* 9996 9994*
-	1.0285*1	289 295 282		1.0295 1		1.0275*1	277 278 281		1.0281 1		1.0006*0 1.0015 0 1.0004*0
	8	1.0271 264 265	1.0267 35.9			8	1.0269 269 273	1.0270			1.0002
	1.0273	275 264 274	1.0272 36.6	1.0287 1.0283 1.0285 1.0246 1.0217		1.0265	267 273 274	1.0270 36.3	1.0279 1.0275 1.0258 1.0258		1.0001 1.0004
	1.0271	266 267 269	1.0268 36.0	1.0284 1.0280 1.0214 1.0214		1.0272	266 273 272	1.0271 36.4	1.0278 1.0274 1.0268 1.0264		1.0001
	1.0261	267 264 258	1.0262 35.3	1.0283 1.0278 1.0206 1.0206		1.0271	267 271 270	1.0270 36.3	1.0277 1.0274 1.0263 1.0263		1.0002
ELA	1.0259	269 253 249	1.0258 34.3	1.0279 1.0276 1.0197 1.0166	JELA	8	1.0268 269 272	1.0270 36.3	1.0275 1.0273 1.0267 1.0267		1.0003
ENEZU	f 1 9	1.0257 248 254	1.0253 34.1	1.0291 1.0283 1.0166 1.0152	VENEZI	8	1.0267 267 268	1.0267 35.9	1.0272 1.0271 1.0263 1.0260	BRAZIL	1.0000
IANÁ. V	8	1.0281 262 259	1.0267 35.9	1.0277 1.0276 1.0223 1.0194	IPANO,	8	1.0268 267 275	1.0270 36.3	1.0280 1.0273 1.0266 1.0264	ELÉM,	0.9999 1.0002 1.0001
CUN	5	1.0269 268 272	1.0270 36.3	1.0281 1.0277 1.0225 1.0163	CARÚ	8	1.0267 265 273	1.0268 36.0	1.0281 1.0274 1.0254 1.0257		0.9999 1.0003 1.0000
	8	1.0269 275 264	1.0269 36.2	1.0284 1.0280 1.0253 1.0253		1 8 0	1.0270 266 276	1.0271 36.4	1.0281 1.0275 1.0265 1.0269		0.9998
	Ì	1.0273 264 266	1.0268 36.0	1.0295 1.0286 1.0227 1.0174		8	1.0272 268 273	1.0271 36.4	1.0279 1.0275 1.0266 1.0264		0.9999
		1.0275 274 271	1.0273 36.7	1.0286 1.0283 1.0283 1.0242 1.0210		8 5 8	1.0272 269 276	1.0272 36.6	1.0279 1.0276 1.0270 1.0270		1.0001 0.9999 0.99999
	8 9 8	1.0279 262 273	1.0271 36.4	1.0289 1.0284 1.0284 1.0240 1.0182		1	1.0273 270 274	1.0272 36.6	1.0277 1.0276 1.0269 1.0266		1.0001 1.0000 0.9999
	8	1.0275 272 274	1.0274 36.8	1.0288 1.0283 1.0258 1.0258		8	1.0273 269 272	1.0271	1.0276 1.0275 1.0260 1.0255		1.0002 1.0001 1.0000
	1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.		1950 1951 1952

																· · · ·	
	Min.		4 5 8			.0275* 266		•0134*	144*	701		•0249*	246* 246*	252*			.0246
	Max.		8	1.0294*1. 292*		1,0299*1 303		1.0284*1	\$80 \$80 \$	40 <b>7</b>		1*0720*1	274* 288*	286*		1.0288	J
	Means		3 8 8			1.0284		1 6 8		7670•T		1	2 8 1 9 8 8	8	1.0268 36.0		
	Dec.		1.0272	286 279		1.0284 287		1.0242	265 253	012		1.0260		271	1.0266 35.8	1.0280 1.0274	1.0250
	Nov.		1.0267	289 273		1.0283 285		1.0264	266 260	112		1.0267	268 276	273	1.0272 36.6	1.0282 1.0276	1.0268
	Oct.			1.0282 266		1.0233 283		1.0258	255 256	202		1.0265	267 274	278	1.0271 36.4	1.0280 1.0274	1.0267
,	Sept.	ZIL	8	1.0275 253	BRAZII	1.0279 281		8 3 8	1.0220 249	707	Ľ	8 8	1.0263 270	270	1.0268 36.0	1.0273 1.0273	1.0262 1.0261
	Aug.	IS, BRA	1	1.0264 230	curipe),	1.0281	BRAZIL	8	1.0220 230	007	, BRAZ	8	1.0260 266	267	1.0264 35.5	1.0273 1.0269	1.0260 1.0256
	July	NÓPOLI	8 1 5		ZA (Mu	1.0282	ECIFE,	1	1.0228	<b>F</b> 09	VADOR.	8	1.0256 260	266	1.0261 35.1	1.0271 1.0265	1.0252 1.0246
447	June	SALI	8	1.0207	RTALE	1.0284	R	8 2 8		55 70 ° T	SAL	8	1.0257 260	261.	1.0259 34.9	1.0270 1.0267	1.0253 1.0249
	May		8 2 8		F	1.0283		8 8 9	1.0229	C 2 2		8 8	1.0257 264	8	1.0260 35.0	1.0276 1.0273	1.0252 1.0248
	Apr.		8			1.0234		1 8 8	1.0269	202		8	1.0268 273	273	1.0273 36.7	1.0284 1.0279	1.0262 1.0252
	Mar.		8	1.0210		1.0287		9 3 9	1.0260 276	007		8	1.0269 280	279	1.0276	1.0288 1.0281	1.0272 1.0266
	Feb.		8 £ 8	1.0270		1.0286		1 9 9	1.0272 260	007		8	1.0270 277	280	1.0276 37.1	1.0286 1.0281	1.0272 1.0266
	Jan.		3 8 8	1.0215		1.0285		8	1.0266 269	402		1	1.0269	279	1.0274 36.8	1.0284 1.0279	1.0271 1.0266
	Year		1949	1950 1951 1952	•	1951		1949	1950	20AT		1949	1950	1952	Mean Density Salinity	Max. Mean Max.	Mean Min. Min.

*0666 *	-0228*	122 178 175		.0122	• 02 59*	222 243 232		•0222
1.0241*0	1.0270*1	269 270 266		1.0270	1.0270*1	273 271 271		1.0273
0 8 8	1	1.0235 244 243	1.0241 32.5		8	1.0261 260 256	1.0259 34.9	
1.0035	1.0243	234 259 233	1.0242 32.7	1.0265 1.0258 1.0219 1.0191	1.0266	264 264 262	1.0264 35.5	1.0269 1.0268 1.0259 1.0254
1.0126	ZIL 1.0249	253 261 239	1.0250 33.7	1.0265 1.0262 1.0262 1.0241	1.0265	266 260 255	1.0262 35.3	1.0269 1.0268 1.0268 1.0242
1.0120	z), BRA 1.0264	260 261 252	1.0259 34.9	1.0270 1.0266 1.0248 1.0248	1.0265	259 248 243	1.0254 34.2	1.0270 1.0266 1.0244 1.0233
ZIL 1.0108	nta Cru	1.0262 259 254	1。0258 34。3	1.0269 1.0264 1.0264 1.0250	;	1.0255 262 243	1.0253 34.1	1.0267 1.0265 1.0244 1.0244 1.0236
<b>\S, BRA</b> 1.0088	a de Sa	1.0256 260 259	1.0258 34.8	1.0268 1.0266 1.0266 1.0250	, BRAZI	1.0243 265 253	1.0254 34.2	1.0269 1.0267 1.0242 1.0222
AVIEIR/ 1.0120	<sup></sup>	1.0254 261 255	1.0257 34.6	1.0270 1.0266 1.0266 1.0242 1.0240	BITUBA	1.0260 258 244	1.0254 34.2	1.0268 1.0263 1.0244 1.0232
<b>CAN/</b> 1.0097	EIRO (F	1.0250 250 255	1.0252 34.0	1.0270 1.0264 1.0264 1.0236	IMI	1.0264 264 252	1.0260 35.0	1.0271 1.0270 1.0251 1.0242
1.0080	DE JAN	1.0226 218 245	1.0230	1.0257 1.0255 1.0203 1.0178	8 8 8	1.0265 257 255	1.0259 34.9	1.0273 1.0269 1.0252 1.0247
1.0095	RIO	1.0195 212 237	1.0215 29.1	1.0253 1.0253 1.0195 1.0168	8 8	1.0267 251 266	1.0261 35.1	1.0270 1.0266 1.0266 1.0257 1.0247
1.0105	8	1.0222 222 206	1.0217 29.4	1.0252 1.0248 1.0186 1.0175	8 8	1.0262 268 266	1.0265 35.7	1.0270 1.0269 1.0256 1.0248
1.0162	8	1.0181 235 229	1.0215 29.1	1.0265 1.0246 1.0181 1.0145	8 8 8	1.0265 263 266	1.0265 35.7	1.0270 1.0269 1.0260 1.0268
8	3 9 8	1.0227 230 250	1.0236 31.9	1.0265 1.0261 1.0184 1.0122	8	1.0262 262 263	1.0262	1.0267 1.0267 1.0257 1.0256
1952	1949	1950 1951 1952	Mean Density Salinity	Max. Mean Max. Mean Min. Min.	1949	1950 1951	Mean Density Salinity	Max. Mean Max. Mean Min. Min.

#### Mean Salinity Curves

Monthly mean salinities in parts per thousand are presented graphically to show the seasonal variation.





#### Mean Salinity Curves - Continued



#### Mean Salinity Curves - Continued





											61	
		Table 2	. Co	orrespo	nding	Densit	ties ai	nd Salii	nities			
(Density at 15°C Salinity in parts per 1000)												
(Density at 10 0 Samily in parts per 1000)												
Den-	Sal-	Den-	Sal-	Den-	Sal-	Den-	Sal-	Den-	Sal-	Den-	Sal-	
sity	inity	sity	inity	sity	inity	sity	inity	sity	inity	sity	inity	
		1 0046	1	2 0101	14.0	1 0156	01.4	1 0011	90 6	1.0966	25 0	
0.9991	0.0	1.0046	(.1	1.0101	14.2	1.0150	21.4	1.0211	20.0	1.0200	35.0	
0.9992	0.0	1.0047	1.2	1.0102	14.4	1.0157	21.0	1.0212	20.0	1.0207	33.9	
0.9993	0.2	1.0048	7.3	1.0103	14.5	1.0158	21.7	1.0213	28.9	1.0268	36.0	
0.9994	0.3	1.0049	7.5	1.0104	14.6	1.0159	21.8	1.0214	29.0	1.0269	36.2	
0.9995	0.4	1.0050	7.6	1.0105	14.8	1.0160	22.0	1.0215	29.1	1.0270	36.3	
0.9996	0.6	1.0051	7.7	1.0106	14.9	1.0161	22.1	1.0216	29.3	1.0271	36.4	
0.9997	0.7	1.0052	7.9	1.0107	15.0	1.0162	22.2	1.0217	29.4	1.0272	36.6	
0.9998	0.8	1.0053	8.0	1.0108	15.2	1.0163	22.4	1.0218	29.5	1.0273	36.7	
0 9999	0.9	1.0054	8.1	1.0109	15.3	1.0164	22.5	1.0219	29.7	1.0274	36.8	
1 0000	1.1	1.0055	8.2	1.0110	15.4	1.0165	22.6	1.0220	29.8	1.0275	37.0	
1.0000		1.0000	0.1		10							
1 0001	1.2	1.0056	8.4	1.0111	15.6	1.0166	22.7	1.0221	29.9	1.0276	37.1	
1 0002	1 2	1 0057	8 5	1 0112	15 7	1.0167	22.9	1.0222	30 1	1.0277	37.2	
1 0003	1 5	1 0059	8.6	1 0113	15.8	1 0168	23 0	1 0223	30.2	1 0278	37 3	
1.0003	1.5	1.0050	0.0	1 0114	16 0	1 0160	22.0	1 0223	30.2	1 0270	37 5	
1.0004	1.0	1.0059	0.0	1.0114	10.0	1.0109	23.1	1.0224	30.3	1.0279	31.3	
1.0005	1.7	1.0060	8.9	1.0115	10.1	1.01/0	23.3	1.0225	30.4	1.0280	31.6	
1 0000	1.0	1 00/1	0.0	1 0110	16.0	1 0171	00 4	1 0000	20 (	1 0001		
1.0006	1.9	1.0061	9.0	1.0116	10.2	1.01/1	23.4	1.0226	30.6	1.0281	31.1	
1.0007	2.0	1.0062	9.2	1.0117	16.3	1.0172	23.5	1.0227	30.7	1.0282	37.9	

1.0008

1.0009

1.0010

1.0011

1.0012

1.0013

1.0014

1.0015

2.1

2.2

2.4

2.5

2.6

1.0063

1.0064

1.0065

1.0066

1.0067

9.3

9.4

9.6

9.7

9.8

1.0118

1.0119

1.0120

1.0121

1.0122

16.5

16.6

16.7

16.9

17.0

1.0173

1.0174

1.0175

1.0176

1.0177

23.7

23.8

23.9

24.1

24.2

1.0228

1.0229

1.0230

1.0231

1.0232

30.8

31.0

31.1

31.2

31.4

1.0283

1.0284

1.0285

1.0286

1.0287

38.0

38.1

38.2

38.4

38.5

1.0012	2.0	1.0001	2.0	1.0122	TI . O	1 1.0111	47.4	1.0202	OI. T	1.0201	00.0
1.0013	2.8	1.0068	9.9	1.0123	17.1	1.0178	24.3	1.0233	31.5	1.0288	38.6
1 0014	29	1 0069	10 1	1 0124	17.3	1 0179	24.4	1.0234	31.6	1.0289	38.8
1 0015	20	1 0070	10.2	1 0125	17 4	1 0190	24 6	1 0235	31 9	1 0200	38 0
1.0015	3.0	1.0070	10.2	1.0125	11.4	1.0100	24.0	1.0200	51.0	1.0270	30.7
		1 0001	10.0	1 0100	10 0	1		1 0000	21.0	1 0001	20.0
1.0016	3.2	1.0071	10.3	1.0126	17.5	1.0181	24.7	1.0236	31.9	1.0291	39.0
1.0017	3.3	1.0072	10.5	1.0127	17.7	1.0182	24.8	1.0237	32.0	1.0292	39.2
1.0018	3.4	1.0073	10.6	1.0128	17.8	1.0183	25.0	1.0238	32.1	1.0293	39.3
1.0019	3.5	1.0074	10.7	1.0129	17.9	1.0184	25.1	1.0239	32.3	1.0294	39.4
1.0020	3.7	1.0075	10.8	1.0130	18.0	1.0185	25.2	1.0240	32.4	1.0295	39.6
	- • •										
1.0021	3.8	1.0076	11.0	1.0131	18.2	1.0186	25.4	1.0241	32.5	1.0296	39.7
1 0022	3 0	1 0077	11 1	1 0132	18 3	1 0187	25 5	1 0242	32 7	1 0297	39.8
1 0022	1 1	1 0079	11 2	1 0122	19 /	1 0199	25.6	1 0242	32.0	1 0209	30 0
1.0023	4.1	1.0070	11.2	1 0133	10.4	1 0100	25.0	1.0243	22.0	1.0290	40 1
1.0024	4.2	1.0079	11.4	1.0134	10.0	1.0109	25.0	1.0244	32.9	1.0299	40.1
1.0025	4.3	1.0080	11.5	1.0135	18.7	1.0190	25.9	1.0245	33.1	1.0300	40.2
1.0026	4.5	1.0081	11.6	1.0136	18.8	1.0191	26.0	1.0246	33.2	1.0301	40.3
1.0027	4.6	1.0082	11.8	1.0137	19.0	1.0192	26.1	1.0247	33.3	1.0302	40.4
1.0028	4.7	1.0083	11.9	1.0138	19.1	1.0193	26.3	1.0248	33.5	1.0303	40.6
1.0029	4.8	1.0084	12.0	1.0139	19.2	1.0194	26.4	1.0249	33.6	1.0304	40.7
1.0030	5.0	1.0085	12.2	1.0140	19.3	1.0195	26.5	1.0250	33.7	1.0305	40.8
1.0031	5.1	1,0086	12.3	1.0141	19.5	1.0196	26.7	1.0251	33.8	1.0306	41.0
1 0032	5 2	1 0087	12 4	1 0142	19 6	1 0197	26.8	1 0252	34.0	1 0307	41 1
1 0033	5 1	1 0088	12.4	1 0142	10.7	1 0100	26.0	1 0252	2/ 1	1 0209	A1 9
1 0024	5.4	1.0000	12.0	1 0143	10.0	1.0190	20.2	1.0253	24.1	1.0300	41.4
1.0034	5.5	1.0009	12.1	1.0144	19.9	1.0199	21.1	1.0254	34.2	1.0309	41.4
1.0035	2.0	1.0090	12.8	1.0145	20.0	1.0200	21.2	1.0255	34.4	1.0310	41.5
1 0000		1 0001	10.0	1 01 16	00.1	1		1			
1.0036	5.8	1.0091	12.9	1.0146	20.1	1.0201	27.3	1.0256	34.5	1.0311	41.6
1.0037	5.9	1.0092	13.1	1.0147	20.3	1.0202	27.5	1.0257	34.6	1.0312	41.7
1.0038	6.0	1.0093	13.2	1.0148	20.4	1.0203	27.6	1.0258	34.8	1.0313	41.9
1.0039	6.2	1.0094	13.3	1.0149	20.5	1.0204	27.7	1.0259	34.9	1.0314	42.0
1.0040	6.3	1.0095	13.5	1.0150	20.6	1.0205	27.8	1.0260	35.0	1.0315	42.1
1.0041	6.4	1.0096	13.6	1.0151	20.8	1.0206	28.0	1.0261	35.1	1.0316	42.3
1,0042	6.6	1,0097	13.7	1.0152	20.9	1.0207	28.1	1.0262	35.3	1.0317	42.4
1.0043	6.7	1.0098	13.0	1 0153	21 0	1 0209	28 2	1 0263	35 /	1 0318	42 5
1 0044	6.8	1 0000	14.0	1 0154	21.0	1 0200	20.2	1 0264	35 5	1 0310	12.0
1 0045	6.0	1 0100	14.0	1 0155	21.2	1 0210	20.4	1.0204	35.3	1 0220	42.1
1.0045	0.9	1.0100	14.1	1.0155	21.3	1.0210	20.5	1.0205	35.1	1.0320	42.8

The purpose of this graph is to provide the density of sea water at any temperature apt to be encountered when the density at the standard temperature of 59°F. (15°C.) is known. It is intended primarily for use with this density publication which gives densities at 59°F. and with Coast and Geodetic Survey Special Publication No. 278 which gives sea water temperatures for the same stations.

To convert a density at 59°F. to density at another temperature, enter the graph horizontally from the left with the known density and downward from the top with the desired temperature; the position of the point of intersection with respect to the curves gives the density at the desired temperature. Interpolate between curves when necessary. For example, by this method, water having a density of 1.0162 at 59°F. is found to have a density of 1.0124 at 85°F.

The densities are referred to the density of fresh water at 4°C. (39.2°F.) as unity.



TEMPERATURE IN DEGREES FAHRENHEIT



PLEASE RETURN TO INSTITUTOR FORTA LIBRARY MOLEAN

Woods "ole Oceanographic Institution ATLAS - GAZETTEER COLLECTION

